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Friday, November 11, 2011

--- On commencing at 9:34 a.m.

MS. CHAPLIN:  Please be seated.  Good morning, everyone.  The Board is sitting today in the matter of application EB-2011-0144 submitted by Toronto Hydro-Electric System Limited for an order or orders approving or fixing rates for the distribution of electricity to be effective May 1st, 2012, May 1st, 2013 and May 1st, 2014.

We're sitting this morning to hear the witness panel of Toronto Hydro regarding the preliminary issue.  We have -- I think we have an order of cross-examination.  Are there any preliminary matters before we...

MR. RODGER:  No, Madam Chair.

MS. CHAPLIN:  Okay.  So I have an order of cross-examination with Board Staff going first, then Energy Probe, City of Toronto, BOMA, AMPCO, VECC, and then Schools.  Does that cover everybody, I think?

And then just in terms of -- to mark that today is Remembrance Day, we will observe a moment of silence at 11 o'clock, and we will take the morning break at whatever point after that is most convenient in the questioning.

So if there is no preliminary matters, then perhaps the witnesses could be sworn or affirmed at their choice.

MS. SEBALJ:  Madam Chair, did you want to take appearances?

MS. CHAPLIN:  Well, we did that last week, didn't we?  Is there anybody here that wasn't here last week who would like to make an appearance?  I think we've got everybody.
TORONTO HYDRO-ELECTRIC SYSTEM LIMITED - PANEL 1


Jean-Sebastien Couillard

Anthony Haines, Sworn

Colin McLorg, Sworn
Examination by Mr. Rodger


MR. RODGER:  Thank you, Madam Chair.

As the parties will be aware, this panel will speak to the evidence and preliminary issue before the Board this morning, and, in particular, with respect to the witness statements filed on October 31st, 2011.

The panel consists of three members from Toronto Hydro's senior executive team, Mr. Anthony Haines, Mr. J.S. Couillard, and Mr. Colin McLorg.

So starting with you first, Mr. Haines, you are the president of Toronto Hydro-Electric System Limited?

MR. HAINES:  That's correct.

MR. RODGER:  And you have held this position since September 2006?

MR. HAINES:  Yes.

MR. RODGER:  And I understand that your CV has been provided to the Board as Exhibit A1, tab 5, schedule 2-1?

MR. HAINES:  Yes.

MR. RODGER:  And, Mr. Couillard, you are the chief financial officer of Toronto Hydro-Electric System Limited, and you have held this position since November of 2004?

MR. COUILLARD:  Yes.

MR. RODGER:  And your CV has also been provided to the Board as Exhibit A1, tab 5, schedule 2-2?

MR. COUILLARD:  Yes.

MR. RODGER:  And, finally, Mr. McLorg, you are the manager regulatory policy and relations of Toronto Hydro-Electric System Limited?

MR. McLORG:  Yes.

MR. RODGER:  And you have held this position since August 2006?

MR. McLORG:  That's correct.

MR. RODGER:  And your CV has provided to the Board as Exhibit A1, tab 5, schedule 2-3.

MR. McLORG:  That's right.

MR. RODGER:  Now, Madam Chair, on October 31st, 2011, each of these witnesses filed witness statements, and I'm wondering if I might be able to get an exhibit number for each of these, please?

MS. CHAPLIN:  Would you like a separate number for each one?

MR. RODGER:  Perhaps a separate one for each one, if we can start with Mr. Haines, please?

MS. CHAPLIN:  Ms. Sebalj?

MS. SEBALJ:  It will be K1.1.

MR. RODGER:  And next for Mr. Couillard.

MS. SEBALJ:  Sorry, I'm just trying to recall what we marked the last days.  I think we used that as -- we did have some exhibits.  So if I can go back and mark Mr. Haines' Exhibit as K2.1, Mr. Couillard's exhibit as K2.2, and Mr. McLorg's as K2.3.
EXHIBIT NO. K2.1:  CV OF MR. HAINES.
EXHIBIT NO. K2.2:  CV OF MR. COUILLARD.
EXHIBIT NO. K2.3:  CV OF MR. MCLORG.

MR. RODGER:  Now, panel, was the application and witness statements before the Board this morning prepared by you or under your supervision?

MR. COUILLARD:  Yes.

MR. HAINES:  Yes.

MR. McLORG:  Yes.

MR. RODGER:  And do you have any corrections to the evidence at this time?

MR. COUILLARD:  No.

MR. HAINES:  No.

MR. McLORG:  No.

MR. RODGER:  And is the evidence before the Board, to the best of your knowledge, an accurate reflection of the company's affairs?

MR. COUILLARD:  Yes.

MR. HAINES:  Yes.

MR. McLORG:  Yes.

MR. RODGER:  And do you each adopt this evidence as your own evidence in this proceeding?

MR. COUILLARD:  Yes.

MR. HAINES:  Yes.

MR. McLORG:  Yes.

MR. RODGER:  Now, Madam Chair, given the witness statements that we did file on the 31st, we have no examination-in-chief for these witnesses, and, accordingly, the panel is available for cross-examination.

MS. CHAPLIN:  Thank you, Mr. Rodger.  Ms. Sebalj.
Cross-Examination by Ms. Sebalj

MS. SEBALJ:  Thank you.  Good morning, gentlemen.  My name is Kristi Sebalj, and I'm legal counsel to for the Board.

Hopefully just a few questions for you this morning, and I will go in the order of the exhibits.

So beginning with Exhibit K2.1, Mr. Haines, on the first page of your evidence, you make reference to the half-year rule, and just for your reference, that's beginning at line 20 of page 1, as regards to your comment that:
"Fifty percent of the capital invested during rebasing years is not recovered 21 until the next rebasing period (and the opportunity cost of THESL's return and 22 the interim depreciation is entirely lost)."


Toronto Hydro has expressed the view that there are two different regulatory models, cost-of-service and IRM with rebasing.  Would Toronto Hydro agree that the half-year rule issue is applicable to both these models?

MR. McLORG:  Yes, we would.

MS. SEBALJ:  Could Toronto Hydro summarize for the Panel its proposals as to how the half-year rule concern should be dealt with under both the multi-year cost of service framework under which it is filing and the IRM framework?

MR. McLORG:  Yes, I'd be happy to speak to that.  First of all, with respect to the cost of service framework, our view of the matter is that under a cost of service regime, in the first case under an annual cost of service regime assumption, the rate base that is the subject of the test year application would reflect the full amount of capital investment from the prior year.

And we don't dispute, of course, the application of the half-year rule as being a reasonable representation of the average rate base in the test year, but in subsequent years the full amount of actual capital investment, and consequently rate base, would be reflected in the year subsequent to the test year.

And, of course, with each subsequent or each successive application, that means that the capital expenditure of the company is recognized on a year-by-year ongoing basis.

Now, with respect to our specific proposal for this application, we have proposed that in years 2 and 3 of our application - that is, 2013 and 2014 - the determination of rate base and rates, in general, would be more or less subject to the same kind of updating arrangement that we had in 2009, where a limited number of parameters, such as the cost of capital and so on, would be updated for the purpose of finding revenue requirement for the subsequent two years in each year, and that, in particular, the rate base used for determination of revenue requirement in those succeeding years would reflect the actual capital spending of Toronto Hydro in the prior year.

So the harmful effects of the application of the half-year rule don't arise in the cost of service framework, either in an annual cost of service setting or, in the case of our application, for a multi-year test period.

Now, with respect to a cure, so to speak, for the half-year rule in the case of an IRM application, where the utility chooses to spend in cap-ex substantially more than depreciation in the rebasing year, it is our view that there are mechanisms available to keep all parties whole in that instance.  And one of them would be for the Board to find in the rebasing year that rate base is, in fact, as usual, the average rate base across the year, but also to establish what could be called a negative rate rider, which would expire at the end of the rebasing year.  And that would reflect the revenue requirement of the unrecognized rate base that would normally occur in the subsequent year for purposes of rate-setting.

So to take a concrete example, if a utility in a given rebasing year proposed to spend $200 million in excess of depreciation, the normal operation of the half-year rule would find that 100 million of those $200 million of CEEDs, as we call it -- capital expenditures exceeding depreciation -- would remain unrecognized in the subsequent year, because of course, the implicit revenue requirement and rate base in an IRM traditional framework just continues the revenue requirement from the rebasing year, subject to the PCI adjustments.

The operation of the negative rate rider would be such that it would act to compensate ratepayers for the revenue requirement related to the unrecognized capital spending in the rebasing year, and would then expire at the end of the rebasing year, so that rates would then rise to reflect in the subsequent year the capital spending that had actually occurred at year-end of the rebasing year.

I hope that was clear, but if there is any way that I can clarify...

MR. HAINES:  I wonder if I can summarize some of those comments quickly.

It's obviously a technical question, but for us, the real difference between the two systems is regulatory lag, the time between the capital being invested and the time in which we recover the cost of capital.

And so in a cost of service, an annual cost of service, it's six months, and in an IRM model, it is multiple years.  And so that, really, is the principal difference between those two mechanisms.  Although they may appear to be similar in nature, the application of them are vastly different.

MS. SEBALJ:  Thank you.  I just also wanted to get you to confirm that Toronto Hydro is aware that the half-year rule does not apply to an incremental capital module application unless it's made in the final year of the IRM term.

MR. McLORG:  That's our understanding.

MS. SEBALJ:  Thank you.  So continuing on with Mr. Haines' evidence, Mr. Haines discusses the magnitude of Toronto Hydro's capital requirement on page 3 of his evidence, and states, starting at line 3 of page 3 of Exhibit K2.1 -- and I'll just read this in:

"In particular, Toronto Hydro estimates that the annual amount required to sustain Toronto Hydro's distribution system is approximately $600 million in each of the next 10 years alone.  THESL's needs in this regard are not new and it has made its case to the Board regarding the critical importance of its growing asset and workforce renewal needs since 2006.  Indeed, it is my view that the settlement of THESL's last two rate cases illustrate the way in which the Board and intervenors have acknowledged and agreed with THESL regarding both the importance and quantum of THESL's increasing capital renewal needs."

Would Toronto Hydro agree that as part of the settlement proposal related to EB-2009-0139, which is the 2010 rate application, Toronto Hydro agreed to reduce its capital budget from 423.6 million, which was originally requested in the application, to 350 million, which excludes any capital expenditures related to Transit City, which was a cut of 73.6 million?

MR. HAINES:  We would agree that we did that.

MS. SEBALJ:  And similarly, would you agree that as part of the settlement proposal related to EB-2010-0142, Toronto Hydro agreed to reduce its capital budget from 498 million, which was originally requested, to 378.8 million, as calculated after taking into account the accounting update adjustments and representing a cut of roughly 120 million?

MR. HAINES:  That's correct.

MS. SEBALJ:  So given the stated critical importance of this issue, could Toronto Hydro please provide for the Panel a rationale for agreeing to cuts of this magnitude as part of the two previous settlement agreements?


MR. HAINES:  Yes, absolutely.  Thank you very much.  Last time I appeared in this room, I believe, it was back in late '05, and I talked about the need to address the aging capital challenges at Toronto Hydro.  I think at that time we identified the fact that we needed to do a lot more planning work around it and identified the need to come up with a long-term asset strategy, which we then did subsequently, and filed.

That strategy and approach has been improved year over year, and it now shows us that we need to invest $600 million-plus a year on a sustained capital investment approach.

So why did we accept something less than that?  The real issue here is the pace with which we go from $100 million back in '05 to the necessary amount of 650 million.  What is the pace of that increase?  And there has been skepticism, I think, from the intervenor community, that Toronto Hydro could do it, that we would be able to, in fact, ramp up at $100 million a year and achieve those objectives.

And so why did we agree to that cut?  It was a position and agreement that was made between all parties that that was a reasonable pace to move from the $100 million up to the $600 million.

It doesn't change the need to get to 600; it was simply a recognition that that was a responsible ratemaking pace to move there.

MS. SEBALJ:  Thank you.  With reference to page 4 of your evidence, Mr. Haines, starting at line 3 -- and this is with respect to the issue of aging plant -- it says:

"To assist the Board and intervenors, I have prepared Figure A, which shows the asset age assessment of THESL's plant.  Figure A shows that over one-quarter of THESL's distribution plant is already past its useful life (3.4 billion) and a further 19 percent (2.2 billion) will be past its useful life within 10 years.  In other words, approximately half of THESL's plant will need to be replaced in the next 10 years."

And then on page 6 of your evidence, starting at line 4, it says:
"Finally, where end-of-life or past end-of-life equipment is not replaced, service disruptions increase, both in frequency and duration, as do the costs of emergency repairs for failing equipment."

Can you please state whether, given that over one-quarter of THESL's distribution plant is already past its useful life, whether there has been any significant degradation in THESL's service reliability levels?

MR. HAINES:  Yeah.  Absolutely.  When we think about reliability, we have to not only take the averages of the system, the SAIDIs and SAIFIs of the world, but we also look at something -– a more important criteria for me is the worst performing feeders criteria.  And it's a goal, a KPI, we call it, that Toronto Hydro established a number of years ago.


What we're doing when we look at that is going away from the averages and looking at the underlying data.  Of our 1,700 feeders, how many feeders are out more than seven times in the year?  And so these are customers that are experiencing outages almost every month and a half on average through a year.  And it's those feeders that we are most concerned by; those are levels that are at an unacceptable service level from our perspective.

And so five years ago when we started, embarked upon this reinvestment in our infrastructure, we had 80 of those feeders that were performing at an unacceptable level.

Today we have 41, but they're not the same feeders.  And so we fix one and two break, we fix two and one breaks, and this has been the experience that we've been experiencing over the last five years.

This year we're investing $100 million on those feeders, and yet we are worse than we were a year ago.

And so let's bring that down to customers for a minute.  So of those feeders, 40 feeders, they average about 3,000 customers per feeder.  So you've got 120,000 customers that are experiencing regular outages.  And of course, those are people, you know, and if the average is two or two and a half people per one of these meters, you're talking -- you're getting up into a quarter of a million Torontonians that are experiencing increasing outages from Toronto Hydro.  Some of these feeders are, in fact, in the 10, 12, 13 outages a year.

And so that's when we look at the performance of the plant and say that although we are investing from 100 million up to 400 million today, need to go to 600 million, we still continue to drown in terms of the performance of service, quality of service to our customers.

MS. SEBALJ:  And so that doesn't seem to be reflected in the SAIDI and SAIFI numbers, and so I don't want to get into a debate about worst performing feeder and what the best reliability index is, but you'll agree with me that it isn't reflected in SAIDI and SAIFI, which the Board --


MR. HAINES:  No, I think that what SAIDI and SAIFI are is large averages.  They reflect the fact that we have quite a reliable distribution plant downtown.  It's very old, but it has performed extremely well.

And so the averages would be something quite significantly different if you then pulled out that component of the distribution plant.  And so, you know, we should not be seduced by these averages that, you know, appear to be a couple of outages a year per customer averaging 80 to 90 minutes, and -- you know, which puts us on not a very good performance on a world-class basis, and, on a Canadian basis, sort of marginal performance.

So that's one way to look at it, but you've got to go underneath that and say, is an outage every six weeks for 250,000 people acceptable service?  And you have to come to the conclusion that that doesn't meet the obligation to provide quality reliable service to our customers.

MS. CHAPLIN:  Mr. Haines, just so I can make sure I understand, you did say that five years ago it was 80 and now it's 41?

MR. HAINES:  Yes.

MS. CHAPLIN:  So do you consider that an improvement or...

MR. HAINES:  Absolutely.  It represents an improvement, and it reflects the fact that we've gone from 100 million to 400 million of investment, with 100 million of that 400 being focussed on these worst performing feeders.

So, yeah, that represents an improvement for sure.

MS. CHAPLIN:  And have you compared that -- you're saying now you have 40.  Have you compared that performance to other utilities?  You're saying out of 1,700 feeders, you have 41 that are in this category?

MR. HAINES:  Yeah.

MS. CHAPLIN:  What is your sense of how that compares to others?

MR. HAINES:  It's not an industry metric.  You know, it's one that we chose to adopt because it really brought us down to allowing us to focus on the highest-priority capital, and it has allowed us to see how the capital is degradating (sic) despite our attempts to catch up.

And so it's not a benchmark that is readily available that I can comment on how that compares against other utilities.

MS. CHAPLIN:  Okay.  Thank you.

MS. SEBALJ:  That sort of leads into my follow-up question, which is whether Toronto Hydro has done any assessments as to how its situation regarding asset lives and the percentage of assets beyond their useful lives compares to other utilities in Canada, the US or the rest of the world.

MR. HAINES:  You know, I think it's well known that infrastructure around the world is aging and we're not getting to it.  It's not unique to the electric sector.  It's a common phenomenon, and we watch bridges falling down and other things.

We have not done a detailed study of how our asset compares against others.  We are largely focussed on delivering an effective program for our customers, and so that is largely where we've been spending our efforts, seeing how we perform against ourselves year over year.

MS. SEBALJ:  Thanks.

Also on page 6 of your evidence, there's a discussion of the impact of productivity improvements.  Can you tell me whether Toronto Hydro has undertaken any productivity studies, subsequent to the study which was entitled "An Analysis of Productivity Improvements at Toronto Hydro-Electric System Limited", which was prepared by KeyWillow Consulting and dated July 20, 2009, and it was submitted as part of the 2010 rate application?

MR. HAINES:  No, we haven't done any specific studies, although we've been taking each and every process in the company and retooling it, and I'm happy to talk about that, if you'd like me to speak about that.  But there are no specific studies, independent third-party studies, that have been performed.

MS. SEBALJ:  Yes, if you could expand upon that, because my next question is going to relate to the fact that that study was fairly qualitative in nature, I think you'll agree with me, and not quantitative.  And so we would be interested to know what you did with the results of that study.

MR. HAINES:  Yeah.  Absolutely.  Obviously, you know, you've got 3,600 pages of evidence in front of you.  It's certainly a matter of our cost of service review.  But I'd like to touch on the performance and how we approach it, and I'll start with the capital performance.

I'd like to use '05 as the benchmark.  That was the last time I was here, the last time I identified that we needed to change the trajectory of capital spend at Toronto Hydro.  So we were spending $132 million that year.  This year we will spend $400 million.

So let's break that down into a productivity question.  Of the $400 million we spend today, about $140 million of that is done by contractors, so independent of the crews at Toronto Hydro.  So I'll put that aside for a minute.  I'll come back to that.

So 260 million of capital is being performed today by Toronto Hydro employees.  How many employees?  In '05, we had 1,650 employees, give or take, and today we have 1,750 employees.  So we have gone from 1,650 employees performing $132 million of capital to 1,750 employees performing $260 million of capital.

So just at the first glance, that looks like a huge productivity gain.  So how is that possible?  How are you able to achieve that?

We have retooled every component of implementation of a successful capital restructuring -- capital plan.  So if you go through the process of how does it occur, it starts with engineering and design.  So we've taken and we've standardized all of the utilities that came together to Toronto Hydro into a standard configuration, a design and asset strategy.

That meant that thousands of pieces of equipment are no longer deployed by Toronto Hydro, and we now have standard designs.  We implemented technologies in order to do that, so we needed less engineers proportionate to the capital investment.

We then went through how do we acquire our materials, and changed our product strategies, our supply chain strategies, such that well over half the materials today are delivered directly to the job site, and they're bundled up in packages.  We no longer have the pickers going down the rows of the warehouse pulling those materials necessary for completion of the job that day.

So the bundles now appear on a skid at the job site.  They're put into a trailer - a pod, we call it - and those materials are available for the crew once they arrive at the job site.

So let's talk about our people for a minute.  Toronto Hydro at amalgamation had 2,600 employees.  We have 1,700 today.  So we're down about 34 percent.  We also have incorporated a large volume of apprentices into our workforce.

So we need to get our people to be more productive, and so over the last five years we've looked at every aspect of how our crews work.  What do they do in the morning?  How long does it take them to get the truck out of the yard?  How long does it take to get to the job site?  How long does it take to perform the various tasks and duties?

And all of this has been aided through the use of various technology, so we have a clear path on all of that now.

We fundamentally did a couple of things when we looked at that.  We said we need to bring crews closer to the job site because, as you can imagine, in the congested City of Toronto, we spent a lot of time on the roads.

So we deployed a facility strategy that moved the workers closer to the work.  So we now have locations in the northwest, the northeast, downtown and other places, and that allowed a reduction.  But we didn't stop there.  We are also now experimenting with ideas of report to job site, we call it, which means that the employee goes to a location very close to where they're going to be working that day, and all of the time spent on the roads previously are removed from the lost productivity.

But we didn't stop there.  So we've redesigned the work and job descriptions of all of our employees over the last five years.  Five years ago, as I sat in front of you, we had something like 550 job descriptions.  Today we have 150; 150.  So we needed to do that with our partners, with our union, come up with reasonable job descriptions.  But as you can imagine, everybody now has one or two duties that they're required to perform that they weren't doing five years ago, and so there was a total retraining of our workforce.

I think the last numbers I saw was around 1,500 people are now going -- have either completed a retraining around what we call harmonization, or I think there's about 450 still being trained.

So we changed the job descriptions.  So five years ago, it may take four or five different types of jobs to perform a task, and my simple example is, if you were going to put an overhead planted in, a pole, the pole would be driven with a truck driver, which would be a job description.  It would be placed in the hole with a job description.  You know, the various equipment would be hung on it, all of these taking different kinds of job descriptions.  Many of these duties today are a single job.

But we didn't stop there.  What we found, when we looked at our vehicle usage, often there would be three or four vehicles at the job site, and they were being used perhaps as transportation.

So we changed our strategies around our vehicles, so that now our vehicles have double truck buckets so that more employees are able to move to the job site in the same vehicle.

So today, while we've increased the capital from 130 to 260, we've done it with no increase in vehicle usage.

And so these are all examples I'm going through as to, How did we achieve today $260 million worth of work with the same people?

So at macro levels, we've changed every single process necessary to implement a capital strategy, and we're seeing 100 percent productivity gains associated with that.

So that's how we are approaching efficient delivery of a capital program at Toronto Hydro.  We have not, as I said earlier, done a study about this; we are simply implementing these changes.


MS. SEBALJ:  Thank you.  That's helpful.


Fortunately or unfortunately for the Board's purposes, it would be helpful to have some of this information in the form of a study, which included comparisons to other utilities with respect to productivity, particularly if the Panel, at the end of the day, is inclined to allow Toronto Hydro's cost of service application as opposed to IRM.


So I'm wondering if Toronto Hydro would agree -- if the Panel requested it, which it hasn't yet -- to -- I mean, it sounds like, if this is all being monitored by technology, that it wouldn't be that difficult to put it in the form of a study.


Would Toronto Hydro be agreeable to that?


MR. HAINES:  I think we have to be careful about these studies that compare us against others.  You know, just as a strategic matter, I'd like to address that.


We're not opposed to providing information about how we're delivering productivity gains.  There's no issue, obviously, about that.  I've been around the energy sector for a long time.  I've done this for 25 years, and I've looked at studies and seen comparators done for a long, long time.


And what I find with all of them is there's always a difference that makes sense but is not obvious when you look at the raw data.  And so you have to understand all the data to make meaningful comparisons.


And you know, it's often tempting to use comparators to determine efficiency, but it's fraught with danger.  In '05, the Ontario Energy Board received a report that was worked on by many for years, the Cohorts and Comparators, I think, Report, if I've got the handle correctly, and it determined that Toronto Hydro was a unique peer.  It had no comparable, for good reason.


So absolutely we can do that, but we need to be mindful of using it in ways to achieve things that are unintended.


And without being cute, my example of this is if, you know, two people run a marathon and one person finishes half an hour ahead of the other, and you say:  Well, who did better?  Who performed at a higher level?  And the inclination, of course, would be to say:  Well, the person that came in first.  What happens if you found out that one person was 60 and one person was 20?  Do you still come to the same conclusions?


In other words, you need to be careful about doing these studies and drawing conclusions at the levels that are practical in the collection of that data.


And so I don't think it's a valuable use of the Ontario Energy Board's time and a valuable use of resources, but we're not opposed to it in principle.  I would prefer to provide information about Toronto Hydro against Toronto Hydro, because we're proud of our record.  We drive productivity gains with an aggressive program of performance, and so I think that is by far the best comparator of who we are and where we're going.


MS. SEBALJ:  Thanks.


Moving on to Exhibit K2.2, Mr. Couillard, I have only, I think, one set of questions for you.


On page 4 of your evidence, you talk about the effects of IRM on Toronto Hydro's ability to earn its fair return.  And you state that:

"Toronto Hydro would very quickly exceed the Board's off-ramp threshold of 300 basis points."


And table 5 from Toronto Hydro's evidence was reproduced on the next page, and that shows that Toronto Hydro's ROE would be 4.97 percent in 2012 and negative by 2014.


Do you have that?  Do you see that?


MR. COUILLARD:  Yes.


MS. SEBALJ:  Thanks.  And then in response to Board Staff Interrogatory No 3, and in particular 3(b), Toronto Hydro -- I don't know if you want to pull that up, but let me just ask the question.  You can decide if you need to.


Toronto Hydro produced a table, which showed the ROE - in fact, you probably will want to pull it up - in 2012 to 2014 period, and it's actually appendix A to Board Staff IR Response No. 3.


MR. COUILLARD:  Yes.


MS. SEBALJ: And then you'll see at the bottom of that table, there's an ROE effective, and it's 8.1 percent?


MR. COUILLARD:  Yes.


MS. SEBALJ:  Which you'll agree with me would not be a level sufficient to trigger an off-ramp?


MR. COUILLARD:  That's correct.


MS. SEBALJ:  Can you clarify the differences, for the Panel, between these two scenarios?


MR. COUILLARD:  Yes.


MS. SEBALJ:  I know you've provided some explanation in the IR response, but if you can just make that clear to the Panel?


MR. COUILLARD:  Yes.  In the first scenarios in my statement, we, Toronto Hydro, would go on and spend without approval all the capital and the operating expenditures that we are asking in our current rate application.  So we would spend the money without regards to recoverability.


In the second scenario, which is the answer to the interrogatories, we would curtail our spending to the level that would probably allow us to be closer to our return, but in this particular case, like, reducing our spending will trigger some of the some of the -- all of the consequences that are referred to by my colleague Mr. Haines in his statement.


MR. McLORG:  Ms. Sebalj?


MS. SEBALJ:  Sorry.  Go ahead.


MR. McLORG:  If I could just add very briefly to that, I think specifically with reference to appendix A of schedule 3, what that exhibit shows in a stylized fashion is essentially the effect of the operation of the half-year rule, on the assumption that, emanating from the 2012 year, there were $120 million worth of CEEDs that remained unrecognized in the IRM PCI framework.


And so if you look at the top line of the left section of that exhibit that's highlighted in yellow, you'll see that rate base moves from the 2011 level of approximately 2.3 million to the 2012 level of approximately 2.42 billion, and then it remains constant across the subsequent two years.


And the reduction of ROE to 8.10 percent essentially reflects the lost revenue requirement, which is reflected primarily in return on equity, but also in taxes, of that $120 million of unrecognized rate base.


MS. SEBALJ:  But at the end of the day, this table shows that if the Board was to place Toronto Hydro on IRM, the off-ramp would not necessarily be triggered as early as shown in table 5; is that correct?


MR. McLORG:  Sorry, I was just going to add that the assumptions around the ultimate ROE figures differ between the two scenarios.


In appendix A, we have radically curtailed cap-ex and op-ex, such that, for example, cap-ex is set equal to the level of depreciation, which in 2011 was approximately $140 million.


And I think in Mr. Couillard's witness statement, which he will elaborate on if he chooses to, the assumption is quite different, because that is a story about what happens to equity and the general financial picture of the corporation, were Toronto Hydro both willing and able to spend on cap-ex and op-ex in the manner which it feels is necessary.


MR. HAINES:  I wonder if I could underscore a point here.


I'm not sure if you're going to ask more questions about IRM with respect to the financial consequences, but there are important issues here -- it is simply beyond a couple of percentages' return -- on exactly how the company would have to go through regulatory right-sizing, I'll call it, because I don't think it's operational right-sizing, and costs that are not included in this analysis.


And so I wonder if I could just ask you back a question:  Do you want us to respond to that now, or do you have some other questions coming that it would best be answered then?


MS. SEBALJ:  No, I think for my purposes, Mr. Couillard's evidence spoke for itself.  I just wanted to highlight for the Panel the differences between these two tables.  I don't feel a need to get more detail on what Mr. Couillard provided.  I understand that there are consequences in going onto IRM, or that Toronto Hydro is saying that there are consequences.


I don't know if you want to give us a brief --


MR. HAINES:  Yeah, and to make sure the record is clear on that point, there are consequences in the order of $50 million of O&M expense that are not included in that analysis.  Just to be clear on it.  So I guess there's an implicit assumption in there that that would be recovered through a rate mechanism in order to generate those kind of returns that you just saw.  But there is a significant cost associated with regulatory right-sizing.  Thank you.


MS. SEBALJ:  Thanks.  Mr. McLorg, moving on to K2.3, which is your witness statement, on the first page you state that:

"...there are certain structural cost pressures that utilities may face, that arise from a combination of their obligations as distributors and the Board's protocols around ratemaking, that cannot be accommodated under IRM as it is presently exists.  As a result, the imposition of IRM, on utilities that are in certain circumstances that I will describe, would create a structural deficit in allowed revenue that would be severely problematic for those utilities and their customers."


Does Toronto Hydro believe that there are other utilities regulated by the Board that would face the same structural cost pressures as Toronto Hydro?


MR. McLORG:  Yes, we do.  It's an empirical question in each case the degree to which those cost pressures would be faced by the other utilities.  But, you know, schematically, we feel that the structural cost pressures arise particularly in situations where the vintage of plant is quite old.  There's a high percentage of plant that is beyond end-of-life and needs to be replaced.


Those circumstances lead to increases in revenue requirement that aren't counterbalanced by additional revenues that would be generated if the capital were spent on system expansion and customer attachment, as opposed to the simple replacement of infrastructure that has already provided service for on the order of 50 years, doesn't attract new load when it's replaced or new customers.


And so the essential differences, I think, would be the degree to which a utility is experiencing customer and load growth.  That varies fairly significantly between utilities, even adjoining utilities, and the degree to which a utility's capital program is primarily focussed on infrastructure renewal as distinct from other forms of capital, as I mentioned, that generate new revenues and that are associated with system expansion and attachment of new customers.


MS. SEBALJ:  Thank you for that.  And I was actually going to take you to pages 2 of 3 of your evidence where you explain I think what you have just explained verbally for the Panel and ask:  Why, in Toronto Hydro's view, are these utilities not also before the Board with requests that the Board review applications similar to Toronto Hydro's?


MR. McLORG:  It's very difficult for Toronto to answer to the motives of other utilities.  Their positioning with respect to the regulatory and other internal resources necessary to launch a cost of service application, I think it's generally recognized that it's an expensive undertaking.


So we don't have firsthand knowledge, and we really couldn't fairly speculate on the specific reasons why other utilities may not choose to launch a cost of service application or may not feel that they're positioned to be able to launch a cost of service application.


But we do feel, just to repeat our position, that the circumstances of Toronto, while they may be, you know, particularly pronounced in the case of Toronto, are not unique to Toronto.  We think that there are certainly other cities in the province that are long-established cities that probably face very many of the same circumstances that we do.


We don't know the degree to which that applies in any specific case.


MR. HAINES:  Sorry, I wonder if I could just add a little, because I do have a little insight into this one.


You know, as with many of our applications at Toronto Hydro, I hear from the other CEOs that they watch with great interest, that they determine their strategies based on what happens with us.  And I can tell you on this particular application that there is great deal of interest going on amongst the community as to what is the regulatory construct in this province.


And I think that from what happens here there will be others that will react accordingly.


The second piece that, of course, came out very recently is the OEB's recent paper regarding regulatory reform and how the construct needs to be adapted to reflect the fact that there are utilities similar to us.  And I think that that has generated an excitement and optimism that, in fact, we will find the mechanism that is efficient, but also reflects the fact of the circumstances we're talking about.


And so I think there is a "watch Toronto Hydro" situation going on today, with a mild optimism that we're going to see a new regime over the next couple of years.


MS. CHAPLIN:  Mr. Haines and Mr. McLorg, have you considered at all whether or not your circumstances are analogous to, for example, Enbridge Gas, which I -- they are doing a certain amount of renewal and they are located in a similar...


MR. HAINES:  I think they're getting to look a little more like us.  If I could, I of course came from the natural gas industry, and most of our capital then was spent on expansion capital that had incremental revenue associated with it and hadn't really faced the kind of aging infrastructure.  But I know that Enbridge, for example, is facing supply challenges into Toronto, and, you know, large capital expenditures that are not revenue-generating.


And so I think they are heading into the circumstances that we find ourself in today, but I don't know enough about them to comment beyond that.


MS. CHAPLIN:  Thank you.


MR. McLORG:  I could add very briefly that during my time at Enbridge, the cast iron replacement program, which of course was a concrete example of aged infrastructure that needed to be renewed, was an area of special interest both, of course, to the company, but also to the Board and intervenors.


And that served as a kind of a leading indicator, almost, if you will, of the kind of cost and operating pressures that can apply even in that circumstance to a very limited amount of plant that Consumers Gas, at that time, had in the City of Toronto.


MS. CHAPLIN:  Thank you.


MS. SEBALJ:  Thanks.  I'm trying to decide if my next question is unfair or inappropriate, but I'll ask it anyway.


MR. McLORG:  We take them all.


MS. SEBALJ:  That's quite a lead-in, isn't it?  And I think this was asked, frankly, at the last rate case where this was an issue.  But is it Toronto Hydro's view that the IRM regulatory model that presently exists for distributors requires substantial change or whether, for Toronto Hydro's purposes, even forgetting about other utilities, these structural cost pressures that you speak of, Mr. McLorg, could be addressed through relatively minor modifications to the IRM model?


MR. HAINES:  I think our position is this, that there is optionality, that there needs to be optionality for the utilities to choose the best regulatory construct in their circumstances for their customers.


Whether the IRM in its current form needs to be tweaked or rebuilt is really a matter we would have a position on, that obviously in our circumstances a more complete review of it is in order.


Other utilities that may be in circumstances of revenue growth and relatively new infrastructure may think it's a tweak.  But in order to allow utilities that are in both scenarios to use that mechanism, I think it's going to have to have a much broader application or flexibility around the individual circumstances that the utility finds itself in.


MS. SEBALJ:  Thank you.  And my last area, and I'm very guilty of going well beyond my estimate, on the second page of your evidence, Mr. McLorg, you state that, and it begins at line 11, that:

"While a limited number of discrete projects in THESL's capital plan might quality for ICM treatment, they would be exceptions – the majority of THESL's capital program is composed of routine, core-business requirements of a distributor."


Would Toronto Hydro be able to provide the Board with a list of these projects and the amounts which are proposed to be spent on them?


MR. McLORG:  Sorry, Ms. Sebalj, the projects that are eligible for ICM potentially, or the other projects that we believe are not eligible?


MS. SEBALJ:  The projects that you believe that are not -- are routine core-business projects that wouldn't otherwise be eligible for an ICM.


MR. McLORG:  I think, in effect, we have in the schedule, the very long schedule of projects costing over $500,000.  I think the question would be much more easily approached by way of exception, rather than enumerating all the projects that follow the rule.  But, in our view, virtually all of our capital spending, particularly with respect to infrastructure renewal, would be in the character of core responsibilities of the utility.


I hesitate the use the term "business as usual", but it's definitely not the case that replacing failing feeders and that kind of thing is in some sense extraordinary for any utility.


MS. SEBALJ:  Well, I'll tell you I would expect --


MS. HARE:  Excuse me, Ms. Sebalj.  I would be interested in seeing a list of those projects that would be eligible for the incremental capital module, if that's possible.


MS. SEBALJ:  Yeah, so those that are not, in your view, core business and would be eligible for an incremental capital module.  Would you provide that?


MR. McLORG:  Well, Panel and Ms. Hare, we can certainly undertake to provide an exact list, but if it's helpful to you right now, I think that we could identify possibly two.


The first would be the Bremner station, which is not an unforeseen or otherwise unplanned event by any means, of course, but relatively speaking, I think it's fair to characterize the addition of a major new transmission station in downtown Toronto as being extraordinary relative to the other kinds of capital work that Toronto Hydro is doing.


And so I would list that as the principal example of something that might be eligible.  Now, of course, that represents, relatively speaking, a small fraction of our overall capital spending.


And I think, subject to confirmation, we also have some projects related to Hydro One work in corridors where we would be responsible for providing a capital contribution, and those kinds of things could be, I think, argued as being extraordinary in the sense of happening only infrequently.


MS. SEBALJ:  Would you -- I'm getting several whispers here.


MS. HARE:  Jumping in, Mr. McLorg, I would like to see the full list and the dollar value.


MR. McLORG:  Well, we will certainly undertake to provide that.  Thank you.


MS. SEBALJ:  So we'll mark that as J2.1, please.

UNDERTAKING NO. J2.1:  TO PROVIDE FULL LIST OF PROJECTS THAT WOULD BE ELIGIBLE FOR THE INCREMENTAL CAPITAL MODULE, AND THEIR DOLLAR VALUES.

MS. SEBALJ:  Just to follow up on this area, I'm sure Toronto Hydro is aware of the Board's IRM decision for Guelph Hydro in EB-2010-0130 and Oakville Hydro in EB-2010-0104, in which municipal transformer stations were approved for recovery through the ICM mechanism by the Board?


MR. McLORG:  That's correct.


MS. SEBALJ:  And would you agree that those projects might be seen as planned core business requirements of a distributor?


MR. McLORG:  Yes, I do.  And I don't think that the two categories are mutually exclusive.


I think that core business of distributors can in some circumstances still be fairly characterized as being extraordinary, in the sense that they are isolated, major, infrequent and non-recurring kinds of expenditures, that meet an identified, and, in the cases of those two utilities, urgent needs to satisfy growth in customers and demand.


I think that the Board has evolved in its thinking around the application of ICM, and we've treated that, as you know, at some length in Exhibit A1, tab 1, schedule 2, where we have a section that speaks directly to that.


Our understanding is that the Board no longer feels that an ICM-eligible project has to be literally unanticipated.  And I think that that was part of the original thinking.


But I think it's now the case that the Board accepts that there are extraordinary projects, using the word "extraordinary" in the usual or conventional sense, that don't fall under the rubric of a Z-factor and yet are discrete enough to be able to be treated under the ICM framework in a way that enhances regulatory efficiency, you know, for those utilities.


MS. SEBALJ:  And just to finish this up, Energy Probe asked you a question through IR No. 13, which was to calculate the 2012 threshold value of the Board's ICM formula based on a series of assumptions.


And Toronto Hydro did that; they calculated a cap-ex level associated with this threshold of 192.9 million.


And my question is:  Would Toronto Hydro consider this to be an accurate representation of the threshold in general terms?


Sorry, are you trying to find the -- it's Energy Probe 13.


MR. McLORG:  We have the exhibit.  And although I didn't do this calculation personally, I have full confidence that the calculation was done correctly, according to the formula that is provided by the Board and using the input assumptions that have been provided by Energy Probe.


MS. SEBALJ:  And so given that Toronto Hydro is seeking approval of a total cap-ex of 590 million in 2012, would this not mean that roughly 400 million of your capital program could meet the ICM threshold in 2012 and subsequent years?


MR. McLORG:  I don't consider that to be the case, for the reasons outlined in various places, but I would direct you principally to Exhibit A1, tab 1, schedule 2.


And just to briefly summarize the reasons why the majority of our capital wouldn't fall into the category of being ICM-eligible, it's certainly our view that a case cannot be made to characterize the bulk of Toronto Hydro's spending as being in any sense extraordinary.


The capital spending that we're talking about has an established year-over-year history.  It has to do with fundamental distribution plant that is already in existence; it's not even the addition of new plant, but it's the replacement of plant that's already in existence.  And it, in our opinion, can't be characterized as anything more or less than core business of the utility.


So in our understanding of the Board's intention for the use of the ICM mechanism, we don't feel that that kind of -- those kind of projects are eligible for that treatment.


MS. SEBALJ:  I appreciate that.  My question was sort of more from a purely mechanistic perspective, that that would be the threshold.


But if, hypothetically speaking, the Board was to adopt a more liberal interpretation of the ICM module and allowed Toronto Hydro to seek recovery of certain capital projects exceeding the threshold, would Toronto Hydro be able to prioritize its capital projects for which it seeks recovery?


MR. HAINES:  It's a hypothetical question, because what is that, you know, that mechanism that's going to allow us to increase that capital?  But I think we have to, again, look at this at a macro level for a minute.


Of that $192 million, there's about a -- the real IRM capital spend on our projects to renew our infrastructure would allow us something like 140 million a year.  That is equivalent to a hundred-year life-cycle of the asset.


Today we're at a -- the studies all indicate about a 30-year average, which has been studied and studied and studied over the last couple of years.


Today we're investing at about a 40-year life-cycle.  In other words, we're trying to go from where we were to 30.  We're at 40 today.  That's why we're increasing from 400 to 600.


But a mechanism that puts us down in the position where the capital spend available is -- puts us on a hundred-year life-cycle doesn't work.


And so, yeah, if the mechanism gets us to the 30-year life-cycle, absolutely, regardless of how we get there, what mechanism we call it, but if it gets us worse than we are today, then that mechanism doesn't make sense for us.


And so that's why we feel that cost of service is the only mechanism practical in front of us, to move to a life-cycle that is responsible.


MS. SEBALJ:  I guess that takes me back to one of my first questions to you, Mr. Haines, which was, you know, your acceptance of settlement amounts that were substantially less than what you originally asked for.  And your response essentially was that allowed you to make the changes that you needed to at a particular pace.


And presumably - and you can correct me – if -- and it is a hypothetical -- if the ICM threshold was 400 million, that is not completely out of line with previous acceptances by Toronto Hydro of settlements, and presumably Toronto Hydro has had to prioritize its projects in the past as a result of settlements.


And so what my question is is if that threshold was 400 million for the ICM, could Toronto Hydro prioritize its projects?


And my subsequent question was going to be to what extent an approval that looked like that caused any OM&A concerns, or other concerns for you.


MR. HAINES:  Our asset people have a term.  They call it the "snowplough effect", and meaning that we need to spend at a certain level and we're not spending there.  So what we have going on today is a snowplough.  The snow is building up in front of the blade.


If we take from when I was in last in '05 to today, we're roughly one year behind our plan.  In other words, the decisions have resulted in us being a year behind where we should have been at this time.  And that's been done under agreement and compromise, and other things.  So I understand that we're the creator of that snowplough.


How long do we let that snow build up in front of the blade, is the question?  We have a prioritization system, certainly, and we would focus on, really, two areas:  One, those worst performing feeders I described earlier; and the second one is that asset that is most critical to our customers and where the revenue largely comes from, which is the downtown underground system.  That's where we would spend the money, if in fact we're not spending at a level to sustain the infrastructure.


So can we prioritize a dollar or $5, 140 million or 400 million?   Absolutely.  We'll make business decisions around that.  But it doesn't take away the fact that you're still at a level that is not allowing for the long-term sustained development and operation of the infrastructure.


Now, on the O&M side, we would -- certainly, within the IRM model, there are challenges around that.  I can think of three in, particular.  One, there are general wage increases that have been agreed to through collective agreements and management and other things.  There are annualized effects.  I think we've got 160 new employees in the company this year that weren't there last year, and so there would be an annualized salary impact.


And, in fact, the depreciation through the new depreciation mechanisms of what is US GAAP or IFRS equivalent have resulted in $20 million of O&M hit.  And so there are even problems on the O&M side of the IRM, if I can throw as many acronyms into the answer as I can, that we still have to address, as well.


So it's not simply use the IRM and pick another number on capital.  It's a little more structural than that.


MR. McLORG:  Ms. Sebalj, just one very brief last point, if I may, and that is if I could refer you to our response to Energy Probe No. 17.  We state there that in addition to there being, really, no regulatory efficiencies yielded as a result of the repetitive application of the ICM to Toronto Hydro's circumstances, the ICM threshold level of capital expenditure also includes the 20 percent factor which, in the usual context in which ICM is applied, we understand was intended by the Board to screen out marginal projects and marginal requests.


But the repeated application of the ICM mechanism to THESL on a year-over-year basis would effectively require that Toronto Hydro fund the 20 percent portion of the threshold amount without compensation in revenue requirement.  And we don't believe that that can be justified.


MS. SEBALJ:  Thanks.  Those are all of Board Staff's questions.


MS. CHAPLIN:  Thank you.  Mr. Faye.

Cross-Examination by Mr. Faye

MR. FAYE:  Thank you, Madam Chair.


I see it's about 20 minutes to the 11 o'clock hour, and I'll try to keep an eye on that, but if I appear to be in the middle of something and we're getting close, just give me an interruption, please.


MS. CHAPLIN:  I will.


MR. FAYE:  I'd like to start, Mr. Haines, by asking for a little elaboration on a productivity gain example that you used.


If I understood it right, it was an overhead construction pole setting, and it seemed to, the way I heard it, require at least three trade groups to do that part of the job?


MR. HAINES:  Yes.  I was talking about our historic context of job descriptions that have existed in the past that don't exist today.  That's right.


MR. FAYE:  Okay.  So the one you mentioned specifically was a truck driver takes a pole out to a job site.


MR. HAINES:  That's right.


MR. FAYE:  And it seemed to me that some equipment operator dug the hole and erected the pole, and then possibly linemen framed the pole with the appropriate cross arms and put up conductors.  Did I understand that about right?


MR. HAINES:  I think that's right, although I am subject to some check on this, whether the truck driver is the same as the crane operator, because I'm going back five or six years now, because that's not the way it's done now.  But I can certainly take an undertaking to ensure that that was two separate job descriptions previously.


MR. FAYE:  It's probably not material whether it's two different job descriptions or three.


What I wanted to ask you was:  Was that situation specific to Toronto Hydro prior to amalgamation?  Did your outlying municipalities, like East York, Scarborough, Etobicoke, they all had that same situation going on?


MR. HAINES:  That's my understanding.


MR. FAYE:  And yet no one in my experience in the GTA ever had that.  It was always line people that hooked onto the pole trailer, ran the radial boom derrick to dig the hole, erected the pole, framed the pole, put up conductors.  It was all linemen.  Are you familiar with circumstance elsewhere?


MR. HAINES:  It's my understanding that we had truck drivers and crane operators that were separate and distinct from linemen.


MR. FAYE:  And you think that applied in all six municipalities?


MR. HAINES:  I'm not sure about all six, but I think that was the general process across the utilities that became Toronto Hydro.


MR. FAYE:  Do I understand that to mean that when amalgamation occurred, a job description like truck driver that might have existed in the City of Toronto was then extended to the other through some sort of union harmonization of contracts?


MR. HAINES:  No.  What I'm saying is I think they already existed.


MR. FAYE:  You think they did?


MR. HAINES:  Yes.


MR. FAYE:  Okay.  Would you be able to confirm that?


MR. HAINES:  Yes.


MR. FAYE:  You still have those collective agreements, eh?


MR. HAINES:  We're going back 12 years, though; right?


MR. FAYE:  I'm just curious to know whether your suburban utilities when you amalgamated had the same sort of conditions.


MS. SEBALJ:  It will be J2.2, and having been admonished by the court reporter in a few proceedings, can I just get you to summarize that undertaking?


MR. FAYE:  Yes.  The question is:  Did all six member utilities that amalgamated to become Toronto Hydro-Electric have the same job classifications, specifically a truck driver and linemen and possibly equipment operator, necessary to do the single job of erecting a pole and framing it?

UNDERTAKING NO. J2.2:  TO PROVIDE RESPONSE TO WHETHER ALL SIX MEMBER UTILITIES THAT AMALGAMATED TO BECOME TORONTO HYDRO-ELECTRIC HAVE THE SAME JOB CLASSIFICATIONS - I.E., TRUCK DRIVER AND LINEMEN AND POSSIBLY EQUIPMENT OPERATOR - NECESSARY TO DO THE SINGLE JOB OF ERECTING A POLE AND FRAMING IT.

MS. SEBALJ:  Thank you.


MR. HAINES:  Thank you.  And I think just to be clear, what I said was we've gone from 550 job descriptions to about 150 today.  And so, you know, we're talking about a substantial reduction of job descriptions that existed even a few years ago.


MR. FAYE:  Thank you.


I want to go to one other general question, and it has to do with some of your capital program.  I just wanted to ask if you had considered some other options.  In my reading of the evidence of the last rate case, a very significant amount of money is going to be spent to replace underground cables in residential subdivisions.  Is that a fair statement?


MR. HAINES:  Direct buried underground cables, generally; that's right.


MR. FAYE:  Did Toronto Hydro consider just replacing all that with an overhead system?


MR. HAINES:  I think we've done various scenarios on it.  We know the differences in costs, for sure, and the community consequences associated with that.  But, generally speaking, we replaced like for like.  In other words, because of the community issues associated with going from an underground to an overhead, we would tend to change out old equipment with similar equipment.


MR. FAYE:  Yes.  So I understand that is probably -- it's probably a universal paradigm in the utility industry.  The tendency is to do what you did last time.


And I just wonder, though, if you've studied that option, what would the cost consequences have been?  Are we talking probably 50 percent less?


MR. HAINES:  I think we're going to have to take an undertaking.  We don't have the capital panel here at the cost of service hearing, and so we're going to have to get that detail.  But I think it's fair to summarize that underground is more expensive, generally speaking, than overhead.  But, you know, now we're talking about changing out underground capital, so if it's direct buried, it has a different consequence than if it's in a duct system today.


So when you're considering going from a duct system underground to an overhead that doesn't exist, those will have a different cost profile in those sorts of scenarios, the permutations and combinations that you're asking about.


But what we know today in a greenfield circumstance, not that we have any, is that overhead is less expensive than underground.


MR. RODGER:  Madam Chair, just before we give the undertaking, and we're in the Board's hands here, but there is a point where I wonder if certain undertakings are going to be helpful for this threshold issue.


And, as I say, if the Board finds this information helpful for the threshold issue, we're happy to provide it.  But I think it is an issue that we're sensitive of.  How far do we go at this point to provide the information on the question before the Board?


MS. CHAPLIN:  Mr. Faye, perhaps you could tell us precisely what it is you would like to know, and how it will assist us in determining the preliminary issue.


MR. FAYE:  Yes, Madam Chair.


A large part of Toronto Hydro's argument is that they have to have this money because they have no other options.  And this seems to me to be a very obvious option.  Go to a neighbourhood and ask the people:  Would you like to pay a lot more money in your rates, or do you mind putting a pole in the front yard?


And so what I was trying to get at was an order of magnitude type of savings.  If you scrapped your underground cable program and just went in and put poles and overhead conductors, like you have in many areas of downtown Toronto, in an order of magnitude, how much would that save?  Would your capital program go from your projected 600 million to 300 million, for instance?  And that's what I'm trying to get at.


They don't have to do a specific study.  Just give us a feeling for how much of a difference such a plan would make.


MR. HAINES:  Madam Chair, I wonder if I could just elaborate before -- just to respond, it may be helpful to give some context to what's being asked.


Today, we have about -- two-thirds of our plant is overhead, and one-third is underground, so we're not talking about, to start with, a significant opportunity here.


You may have heard about this street in Toronto this year earlier, White Birch Street, and White Birch Street made the media because the community had an uprising against Toronto Hydro changing its plant.  And the hours that were spent attempting to bring the community back on-side were substantial.


In that case, White Birch Street was an interesting one, certainly one that caught us off-guard.  It was a back yard overhead construction to front yard underground construction.  And so you would think, from a customer satisfaction perspective, that that would be what I would describe as a no-brainer, that the community would embrace the loss of lines in the backyard over landscaping, swimming pools, et cetera, and that they would see an underground system with transformers buried underground in the front yard as being a positive to the community.


The community had a complete uprising over this issue, and in fact there was an attempt to stop all Toronto Hydro work in the City of Toronto until such time as satisfaction of the community was brought to bear.


So I understand the model that's being asked here, but I think the practicalities of saying what we're going to have is overhead construction only for the City of Toronto is just not practical.  It's not possible, and will not result in going from $600 million to $300 million.


Thank you.


MR. FAYE:  Madam Chair, if I may just add, 600 to 300 was, you know, the order of magnitude type of example I was using.  If the program of cable replacing is only 150 million, and doing it with overhead construction and maintaining back yard lines, if you did all that, would it reduce your capital requirements, say, to 50 million for that portion of the capital budget?


That's the sort of question I'm asking.  Just gives a roundhouse number, so that we have an appreciation as to whether that kind of a scenario should be investigated before coming to the Board and asking for very large numbers.


MR. McLORG:  If I may add, Madam Chair, just briefly, one last item of context, we don't want to get into the whole case right here in the preliminary issue, but I can say that if Mr. Faye would refer to Exhibit D -- D for David -- 1, tab 8, schedule 1, there there appears a summary of the capital budget.


And the underground system cap-ex that's indicated for that for 2012 is not $600 million; it's $135.6 million.  2013, $147, approximately.  2004, 177.


So again, that goes the question of the magnitude of possible savings.


MS. CHAPLIN:  I take it you still want --


MR. FAYE:  Well, when I add those numbers together, they coincidentally come pretty close to $600 million over three years.  So I still think that that's a very significant amount of money, that if it could be cut in half or by two-thirds it would make a big difference to the amount of cap-ex that you're asking for.


MS. CHAPLIN:  Well, on balance, the Panel would like some further information regarding the potential impact of switching from underground to overhead, an order of magnitude.  We would like an answer that's commensurate with the level of detail that we are examining the issue at this point.  And we will leave that at this point to your discretion.


MR. HAINES:  Thank you, Madam Chair.


MS. CHAPLIN:  May I have a number for that, please?


MS. SEBALJ:  It's J2.3.

UNDERTAKING NO. J2.3:  TO PROVIDE ORDER OF MAGNITUDE FOR POTENTIAL IMPACT OF SWITCHING FROM UNDERGROUND TO OVERHEAD LINES.


MS. CHAPLIN:  Thank you.


MR. FAYE:  Okay.  Panel, I'll get to the purpose of my cross.  That was simply things that came up to mind during Board Staff's cross.


In Energy Probe 18, we asked for a number of things, of which you provided some tables.  And if you could turn up Exhibit R1, tab 2, schedule 18, appendix A?


MR. McLORG:  We have that.


MR. FAYE:  This is the incremental adjustment calculation.  And I note that under return on rate base, you've got 8.57 percent.  I'm just curious to know why you didn't use 9.58 percent, which was the Board-approved.


MR. McLORG:  We'll have to undertake to provide an answer to that, Mr. Faye.


MS. SEBALJ:  It's J2.4.

UNDERTAKING NO. J2.4:  to EXPLAIN WHY INCREMENTAL ADJUSTMENT CALCULATION IN EXHIBIT R1, TAB 2, SCHEDULE 18, APPENDIX A IS 8.57 percent, RATHER THAN THE BOARD-APPROVED 9.58 percent.


MR. FAYE:  Court reporter okay with that one?


Then I'd ask you to turn up Energy Probe 2, which would be Exhibit R1, tab 2, schedule 2.


MR. McLORG:  We have that.


MR. FAYE:  This was initially premised on a typographical error in your evidence that you've corrected, and now the evidence makes some sense.


What I wanted to ask you about here is the process by which you finance your capital investments.  And looking on page 2 of that, you have an excerpt there that says your cap-ex for -- the Board-approved cap-ex for 2010 to April 2011 was 350 million.  And since that period has now expired, and presuming that you either spent that or close to that, could you describe where the $350 million came from to do those capital projects?


MR. HAINES:  We fund the capital requirements through both debt and equity, the bond markets and our equity returns.  And so -- and we strive to keep the 60/40 as our split of that.


And so that's where the funding comes from.


MR. FAYE:  Okay.  So if it's a 60/40 split, 60 percent would be debt, and that's, times 350 million, about 210 million you would have borrowed; correct?


MR. HAINES:  Given in a cycle, but that directly -- that math is correct.


MR. FAYE:  And then -- so there's 140 million coming from equity.  And I wonder -- it doesn't, surely, arrive as a cheque from the City of Toronto.  It's --


MR. HAINES:  City of Toronto doesn't invest in us, no.


MR. FAYE:  So it's depreciation?


MR. HAINES:  It's cash from operation.


MR. FAYE:  Cash from operation?  And so that's depreciation?


MR. HAINES:  And return, generally speaking.


MR. FAYE:  Foregone dividends?


MR. HAINES:  No.  Dividends are a component of the cost of doing business, and those are included as a cost of business.


MR. FAYE:  Okay.  I can see the dividend part, or at least I can see 40 percent of that, because 40 percent of - not dividends, I'm sorry, depreciation.  40 percent of the depreciation would -- if you had to break it into two pieces, 40 percent of it would have been due to equity, and 60 percent of it would have been amortization of the debt.


Have I got that about right?


MR. HAINES:  Of the capital dollar spent, 60 percent is debt, bond markets, 40 percent is equity.  The equity comes from the operation of the utility.


And so when you take your cash from operations, being your -- the return that you earn, as well as other non-cash items like amortization of the asset, that produces an equity injection.


So that's where the equity component of our capital structure comes from.


MR. FAYE:  Okay.  So just going at this step by step, because I'm not a financial wizard here, 40 percent of the depreciation would be attributable to equity reinvested, and then there's --


MR. HAINES:  No, no, no.


MR. FAYE:  No?


MR. HAINES:  No.  Let me start again.  So we spend a dollar.  To fund that dollar we say, Okay, we're going to do a bond issue.  Then we raise 60 cents.  So now we need 40 cents left to fund the dollar.


There's only one source.  It's from the company.  That's our only source of capital.  And so it's not that we're taking amortization and taking 40 percent of it.  We're taking all of it, and that becomes an opportunity to reinvest in the infrastructure.


MR. FAYE:  All right.  Let me skip to where I'm headed with this question, and that may resolve my confusion.


Is it true that the reason you have such difficulty with IRM is you don't get your 40 percent equity split for your debt-equity ratio until the cap-ex is recognized in rate base?


MR. HAINES:  The regulatory lag that I described earlier this morning between when you spend the dollar and when you start to recover it is certainly one of the large challenges associated with IRM, but it's not the only challenge that, you know, that's associated with it.


But it really means, then, that you will be funding -- because it's not in your rates.  You're not getting the amortization.  You're not getting the interest.  You're not getting the return on it.


What it means is your only other source of capital, then, is debt.  We have bond rating -- we have bonds that have covenants associated with them, to the debt-to-equity ratio, and you can't exceed those.  So you can't simply leverage at will the company's balance sheet to fund unrecognized capital investments.


And so you can have a degree of leverage.  In other words, you can fund more than 60 percent under bond covenants, but it's not indefinite.  And so there is a limitation to the amount of capital that we can spend and the regulatory lag associated with recovery of that capital.  That is the principal concern we have around the IRM.


MR. FAYE:  Okay.  And maybe there's time for one more brief question before we have the moment of silence.


MS. CHAPLIN:  Mm-hm.


MR. FAYE:  If I understood what you've just said correctly and what you previously said, cash from operations that you've kept for the purpose of paying for your capital projects would otherwise have been somebody else's; right?


I mean, you don't make a profit.  You make a return on equity and a return on debt.  The return on debt, I'm assuming, has to be distributed to the lenders in the form of interest, and the return on equity, that's the only other portion I can see that the company can keep.


And if you keep that, it means you don't give your shareholder dividends.


MR. HAINES:  That's correct.


MR. FAYE:  Okay.  So it's foregone dividends that is making up part of this 140 million in equity that needs to be devoted to the 350 capital project?


MR. HAINES:  The dividend is a cost of doing business, and so if we don't pay a cost of doing business, then I think your answer is correct.  But it is certainly not the issue at hand, when we think about IRM.  The magnitude of what you're talking about is disproportionate.


In other words, the lag is far more significant than the cost of equity.


MR. FAYE:  Yes.  I think what I'm purely trying to get at is:  Is your shareholder giving up some of his dividends to finance your capital expenditure program?


MR. HAINES:  No.


MR. FAYE:  Do your dividends reflect one for one your return on equity?


MR. HAINES:  No.


MR. FAYE:  Do you have 9.58 percent?


MR. HAINES:  No, no.  Our dividend policy is 50 percent of our income, which is completely in line with other utility operations.  It is a fair return for the shareholder, which deserves to have an equity return.


MR. FAYE:  Yeah, I'm not disputing that.  And the other 50 percent, then, is reinvested in the capital --


MR. HAINES:  That's right.  It's available to fund the 40 percent requirement for equity.


MR. FAYE:  Okay, thanks.


MR. HAINES:  Thank you.


MR. FAYE:  That clarifies my understanding of it.  And, Madam Chair, you can take the break.


MS. CHAPLIN:  Sure.  Why don't we observe our moment of silence now, please?


[Moment of silence observed]


MS. CHAPLIN:  Thank you.  Mr. Faye, would you like to break now, or are you close to completion?


MR. FAYE:  I think I'm within ten minutes.  About ten minutes, I should be finished.


MS. CHAPLIN:  Why don't you continue?  Thank you.


MR. FAYE:  Okay.  Just to finish up that topic, Mr. Haines, in one of our other IR, I believe it was IR 1, we talked about the model that you had of depreciation not equalling current-day costs to replace the same asset.


And in that response, it was mentioned that depreciation usually is reinvested in the system.  So I understood that to mean that the depreciation expense that you collect in your rates could then be devoted to putting up new plant.  Did I misunderstand that?


MR. HAINES:  No, I think that's correct.  Let's go back to the dollars on the table that we're talking about, the capital, $600 million.


At 40 percent, we have to inject $260 million of equity; right?  So where does the 260 million of equity come from?  We have $140 million of amortization, which is a cash -- source of cash, and then we have 50 percent of our return on equity; right?


So if you take the sum of the amortization, cash from the amortization, and cash from the return on equity net of dividend, that amount is about $200 million.  So you are short.


So for a period of time we will be leveraging.  In other words, we will go from 60 percent up to something higher, something high 60s, and then, through a longer cycle, which lasts, you know, a decade, it begins to come back down again.


So that's where the funds come from.  That's how the balance of -- the need to invest balances to both the amortization and the necessity for return to fund the capital program.


MR. FAYE:  Okay, thanks.  That was a really clear explanation and I appreciate it.  And I guess where it leads me is that the part of the depreciation that gets reinvested, that's already in your rates; right?  If you depreciate 140 million this year under an IRM, that doesn't come out of the rate base.  It stays in for the period of the IRM.


So you're still getting a return on that 140 million, whether you're on IRM or not; is that not right?


MR. HAINES:  Assuming you spend no capital, that's correct.


MR. FAYE:  Okay.  So go ahead and spend the capital.  Your rate base, for all practical purposes, for rate-making under the IRM stays the same; right?  The 140 million came out and depreciation went right back in in new capital; is that correct?


MR. McLORG:  Well, under the narrow assumption, Mr. Faye, that you're spending exactly equal to depreciation with cap-ex, then there would be no change in rate base.  I think that's the point you're trying to get at.  That's it not realistic for us.


MR. FAYE:  Right.  It is a very narrow.  I'm only going step by step here.  So under that narrow assumption, the 140 million, you're getting what you would have always got.  You're not missing out on anything there.


Now there is this extra amount, because you want to spend more than 140 million.  And some of that is going to come from retained earnings.  That's the equivalent of the return on equity.  The 50 percent that you're not giving your shareholder you're putting back into your capital program; right?


MR. HAINES:  Well, you're over on the balance sheet, if I could, where it comes from not retained earnings.  It comes from return.  And it comes from return net of dividend; right?


And so in the model you're describing, it's true that in a particular year, if you have 140 million of amortization and you invest $140 million, you're whole from that perspective.


Let's not forget the long discussion we had at the beginning about half-year rule.  We have $400 million we spent this year, of which 200 is not in yet rates, the half-year from '11.


So we start behind the eight ball; right?  We start with $200 million that is not in rates today.


And then to the extent that we spent 140, which is what you're describing, it's true that that 200 stays for the entire period of the mechanism, but your rate base other than that would remain the same.


MR. FAYE:  Okay.  I guess all I'm getting at is some part of your analysis seems to me to be credible, and some part seems to miss the fact that you're not losing on your first 140 million of depreciation; you're still getting that.


And you're not really losing on the 50 percent of your returns that you don't give to the shareholder.  Shareholder is not disadvantaged to the extent that he doesn't get more than 50 percent.  He never did get more than 50 percent; is that right?


MR. HAINES:  That's right.


MR. FAYE:  Okay.  So it's the company that could suffer some disadvantage by not having that cash to invest in their --


MR. HAINES:  No.  It's the customer that's disadvantaged, because in that model that you're describing, the customer outages are growing exponentially, and will go from a quarter of a million to half a million customers who are experiencing regular outages.


And so it's the customer that will suffer under that model.


MR. FAYE:  Okay.  I think I can leave that issue and go to Energy Probe 7.  That's R1, tab 2, schedule 7.


This one asked you about OM&A costs, and it was in response to a quote in your evidence at line 25 to 26 on page 19 of Exhibit A1, tab 1, schedule 2.


And there you noted that:

"any difference between actual and forecast OM&A costs has been at the shareholder's risk."


That prompted a question from us, because -- have you ever had to go to the shareholder to top up OM&A expenditures because you didn't get enough before the Board?  And your response was basically that it's not really relevant.


MR. HAINES:  Yeah, I think in the context of the question, I think to further clarify, we have not asked the City of Toronto to fund unfunded OM&A costs.  There has been examples, however, of costs that have been disallowed, which have been a hit to the city, and I'm thinking in particular of the interest rate issue of a number of years ago.


But we don't ask the City of Toronto to fund an O&M cost that is not covered in our rates.


MR. McLORG:  Mr. Faye, if I could add, you know, it would just be taking money from one pocket and putting it in the other, because any excess of OM&A over what's allowed comes out of earnings to begin with.


So that shortfall in earnings is going to be reflected in income and in the overall value of the company.


MR. FAYE:  Yes, and I appreciate that.  I guess the intent of this question was when you come to the Board with a cost of service application, you have what you want in OM&A expenditures, but in my experience you never get it.  You get something less than that.


And I was wondering if the difference ever had to be made up by the shareholder, and now that I understand that you keep half of your return, I guess the other way is to make it up out of that half of the return that you retain.


MR. HAINES:  Yeah.  I think it's fair to say our overall approach is we manage to the allowed cost of service.  And so to the extent that, as you say, we make a responsible ask and the prudence of the Board determines that a cost is not necessary, we don't spend it.


And so it's not a circumstance that we spend it anyway and then go and ask our shareholder to fund it.  We simply don't spend it.


MR. FAYE:  Okay.  Thank you.


I believe that's all my questions, Madam Chair.  Thank you very much.


MS. CHAPLIN:  Thank you, Mr. Faye.  We will take a 15-minute break.


--- Recess taken at 11:10 a.m.


--- On resuming at 11:33 a.m.

MS. CHAPLIN:  Thank you.  Please be seated.  Mr. Blue, I believe you're next, unless there are any preliminary matters.

MR. BLUE:  Yes.  Thank you, Madam Chair.
Cross-Examination by Mr. Blue


MR. BLUE:  Panel, just to put my questions in context, the city sees this proceeding to go to the issue of whether the process the Board should follow is a cost of service methodology or an IRM methodology, and it's in that context that I'm going to address the questions I want to put to you.

Is that fair?

MR. McLORG:  Thank you.

MR. BLUE:  Okay.  Panel, I've handed out to you and to counsel a letter dated December 1, 2010, from the City of Toronto to Kirsten Walli, the Secretary of the Board, and it was in the context of OEB File No. 2010-0142.  Do you have that letter in front of you?

MR. McLORG:  Yes.

MR. BLUE:  Now, would it be fair to say that what this letter presents to the Board is that the City of Toronto is deeply concerned about the level of street lighting rates being charged to it by THESL?

MR. HAINES:  That's what we understand.

MR. BLUE:  Right.  And we see that in the third, fourth, and fifth paragraphs on page 1 of the letter, which I won't read, since the letter was an exhibit, but if we go to the bottom of page 1 and the top of page 2, there the city quotes from evidence filed by THESL in its 2008 rate application.  Do you see that quote?

MR. McLORG:  Yes.

MR. BLUE:  And if you could go to page 2, there are some underlying passages, and the first one says, with respect to how street lighting rate costs are allocated, quote:
"It is not at all obvious that this allocation is appropriate."

Do you see that?

MR. HAINES:  Yes.

MR. BLUE:  And that's true today, isn't it?  In terms of the cost allocation of street lighting rates, it's still not obvious that the allocation factor that THESL is using is appropriate?

MR. McLORG:  Mr. Blue, THESL is operating under the guidance of the Board's findings on the cost allocation methodology, and we have a view about those, and we've made our views known.  But we're certainly not going to depart from that Board-approved cost allocation methodology prior to the Board -- well, at any time, I should say, but we'll change our approach when the Board approves a different approach.

MR. BLUE:  Thank you, Mr. McLorg, but that wasn't what I asked you.

I asked you:  Is it as true today in Toronto Hydro's view, as it was in 2008, that it is not at all obvious that the allocation of street lighting costs to rates is appropriate?

MR. McLORG:  We think there are questions around that.  I think we still do.

MR. BLUE:  Thank you.  And at the bottom of the quote, there is another underlined passage which says:
"These differences in design do not necessarily imply that allocation by number of connections is the best allocator of these costs."

And there are references.  Do you see that?

MR. McLORG:  Yes, I do.

MR. BLUE:  And, again, sitting here today, is that still so, in THESL's view?

MR. McLORG:  I think that's fair, yes.

MR. BLUE:  Thank you.

MS. CHAPLIN:  Shall we mark that letter as an exhibit, Mr. Blue?

MR. BLUE:  Yes, may we, please, Madam Chair?

MS. SEBALJ:  It will be K2.4.
EXHIBIT NO. K2.4:  LETTER DATED DECEMBER 1, 2010 FROM THE CITY OF TORONTO TO KIRSTEN WALLI.

MR. BLUE:  Now, Mr. McLorg, could we turn to Exhibit R1, tab 5, schedule 1, which is THESL's response to the City of Toronto's Interrogatory No. 1?

MR. McLORG:  Yes, we have that.

MR. BLUE:  All right.  Now, in that interrogatory, the city asks you in part (h), which is on the second page:
"Discuss whether in a rates proceeding that uses the OEB's IRM rate-setting methodology it would be THESL's position that the City could explore the issues described in parts b) -g) above fully and fairly."


Do you see that?

MR. McLORG:  Yes, I do.

MR. BLUE:  And we agree that the issues in (a) to (g) above really go to all the cost allocation factors and issues that enter into how you set street lighting rates?

MR. McLORG:  Yes, I agree with that.

MR. BLUE:  Okay.  And you have told us in (h) to see the answer to (c), and the answer to (c) says:
"The Ontario Energy Board is the authority that sets the scope and process for proceedings before it.  THESL's understanding is that these issues would not be explored in the context of an IRM-PCI proceeding, but could be explored in a COS context."

MR. McLORG:  That's correct, sir.  That's our response.

MR. BLUE:  Just so we have it clear in the record, then, is it fair to say THESL would take the position, if the Board required it to hold an IRM hearing, to be that the city could not explore the street lighting rates issue?

MR. McLORG:  It's really not in our mouths to take that position, Mr. Blue.  That said, we've indicated what our understanding of the Board's discretion over its procedures is, and it will be up to the Board to determine what it would allow.

But I would add that I think the premise of your question is something that may not be entirely accurate, because you referred to an IRM hearing, and I think that the hearings that are involved are basically written hearings that deal with a very limited number of issues.

MR. BLUE:  Fair enough.  IRM methodology, the proceeding, is what I meant to ask you.  I know it's always up to the Board, but as you're sitting there today, would it be THESL's position, in an IRM methodology for rate setting, that it would be inappropriate to go into what underlies its street lighting rates?

MR. McLORG:  Well, I think that it's fair to say that THESL would take the view that any changes in cost allocation methodology necessarily impact customers in other classes than street lighting.  If street lighting is allocated more or less cost and the revenue requirement is given, that means that there will be an impact on other classes.

And in order for THESL to lead evidence on the factual consequences and the implications of those changes, we would suggest that that would best be done in a cost of service context.

MR. BLUE:  Thank you.

Would another way of putting it, then, to summarize your view, be that a detailed examination of street lighting rates would be outside the scope of an IRM methodology; is that fair?

MR. McLORG:  I think that's a fair statement of our understanding.

MR. BLUE:  Thank you.

Now, panel, electronically yesterday I circulated a couple of tables that I said I was going to canvass with you, and one of them is entitled "THESL Street Lighting Data".  Do you have a copy of that table?

MS. CHAPLIN:  I think their counsel is providing it to them, Mr. Blue.

MS. SEBALJ:  Sorry, the Board Panel has it.

MR. McLORG:  We do now have one copy.  Thank you.

MS. SEBALJ:  Can I mark that, Mr. Blue?

MR. BLUE:  Yes, please.

MS. SEBALJ:  It is K2.5.
EXHIBIT NO. K2.5:  MATERIALS DISTRIBUTED BY CITY OF TORONTO.

MR. BLUE:  Panel, I don't want to spend much time on this, but if we look at the top left quadrant of the table under the year --


MR. McLORG:  Sorry, Mr. Blue.  There appear to be more than one table.

MR. BLUE:  Yes, there are two tables.  There's one called "THESL Street Lighting Data".  Underneath that is called "Charge Parameters".

MR. McLORG:  Yes, I have that.

MR. BLUE:  Okay.  On the table entitled "THESL Street Lighting Data Charge Parameters", on the top left quadrant under the year 2011, we see the existing street lighting rate of $1.30 fixed, and variable of 28.7248 cents.

MR. McLORG:  Yes, we see that.

MR. BLUE:  Right.  Dollars, I'm sorry.

Now, as I understand it, under the Board's third generation IRM methodology, you would multiply that by the 1.30 percent inflation factor, less the total of the 72 percent universal stretch factor and the 0.6 percent THESL-specific stretch factor; is that correct?

MR. McLORG:  Well, I think with one exception, that the universal stretch factor is more commonly referred to as the productivity factor.

MR. BLUE:  Thank you for that clarification.

But with that clarification, is what I said correct?

MR. McLORG:  Yes, I believe it's correct.

MR. BLUE:  Okay.  So essentially, for the period of 2012 to 2015, the rates which the City of Toronto have regarded as excessive will stay at that level under the IRM methodology?

MR. McLORG:  Well, Mr. Blue, I think the variable that is expected to be subject to change -- we don't know the magnitude of the change, but the variable that would be subject to change is the inflation factor.  And that could vary from the level shown here of 1.3.

Generally speaking, I think that THESL agrees that the magnitude of the overall PCI adjustment is likely to be near zero.

MR. BLUE:  Okay.  So you're saying that what I described as 1.30 percent, the inflation factor, might change, but my essential point is that between 2012 and 2015, the street lighting rates, which the City believes are excessively high, are not going to change materially?

MR. McLORG:  I think that's fair.

MR. BLUE:  Okay.  Thank you.

Now, I handed out another table, entitled "2011 street lighting rates."

Do you have that table?

MR. McLORG:  Yes, we have it.

MS. SEBALJ:  We also have it.  Thank you.

I had intended to mark that separately, so it will be K2.6.
EXHIBIT NO. K2.6:  TABLE ENTITLED:  "2011 STREET LIGHTING RATES."

MR. BLUE:  Now, panel, what -- you will see that all we have done here is go to Board decisions, and we have done a schedule of street lighting rates of Toronto Hydro-Electric System's to the comparator utilities we show on this sheet; fair enough?

MR. McLORG:  That appears to be what has been done, yes.

MR. BLUE:  And as Mr. Haines has said, to make a valid comparison, we've got to look at all of the underlying data.  We've got to see what the allocation factors are in the other utilities and their unique circumstance for this to be a valid comparison; is that right, Mr. Haines?

MR. HAINES:  That's my position, yes.

MR. BLUE:  Okay.  And again, Mr. McLorg, would that sort of an analysis, in your view, be outside the scope of an IRM methodology rate-setting proceeding?

MR. McLORG:  I believe it would be, Mr. Blue.

MR. BLUE:  Thank you, panel.  Those are my questions.

MS. CHAPLIN:  Thank you, Mr. Blue.

Mr. Brett, I have you next on my list.
Cross-Examination by Mr. Brett

MR. BRETT:  Thank you.

First question, panel, is I just want to confirm that you understand my characterization of this proceeding.

My view of this is that you're seeking a decision by the Board in this preliminary proceeding to have your cost of service application heard, that you're not seeking any assurances from the Board that you will get one year, two years or three years of approval, nor are you seeking any assurances about a particular revenue requirement.

What you're really here to do is to ask the Board to hear your case?

MR. HAINES:  That's absolutely correct.

MR. BRETT:  If you turn to -- thank you.  If you turn to R1, tab 3, schedule 3, now, that is BOMA's interrogatories, so schedule -- tab 3, schedule 3, page 2.

MR. McLORG:  We have that.

MR. BRETT:  Do you have that?

MR. McLORG:  We have that.

MR. BRETT:  Okay.  This is a short interrogatory.  I asked you about, basically, the sequence of cases that you filed over the last few years, which were cost of service and which were IRM and the like.  And I asked you to provide a table, which you did.  The table is over on page 2, and I think that was very helpful, to me, at least.

Now, can you confirm -- you also told me in the response that at no time during that period did the Board give you a specific direction as to a form of filing; is that right?

MR. HAINES:  That's correct.

MR. BRETT:  Now, if you go back to No. 1, BOMA Interrogatory No. 1, that's tab 3, schedule 1.  I'm just going to -- most of these questions are going to come from the BOMA interrogatories, so I'll just be going back and forth among them.  And I'll have a couple of questions on Mr. Couillard's evidence, as well.  And I've given you, left you, panel, and the Board -- with the company panel and your counsel, I've left you with a piece of evidence just to allow you to follow along more closely.  But these first questions are going to flow from the BOMA interrogatories, my client's interrogatories.

So turning to tab 3, schedule 1, this really was an interrogatory around your planning function and your capital plan.

Now, I, for one, have not read the evidence in this case.  I sort of focussed on just -- other than your exhibit that deals with -- your evidence that deals with the nature of the proceeding.  So if I ask you a question and you -- don't hesitate to just tell me that it's in the evidence, and where I might find it.

But on page 3 and 4 of your response to that interrogatory -- I say page 3 and 4 because there are two or three references here.  On pages 3 and 4 of the response, you mention certain studies and assessments.  For example, at page 3, line 14, you mention an asset condition assessment.  You mention something called a recently performed end-of-life analysis.  And then, over on page -- later on, over on page 4, you mention a study comparing Toronto with other world financial centres.

So my question is:  Are these studies, are these discrete studies, and are they in the evidence at this time?

MR. McLORG:  Yes, they are.

MR. BRETT:  Okay.  Well, then I'll find them.  Let's leave it at that.

Now, in your reply to part (c) of my question, you said that you have -- my question was about, essentially, how long have you been filing capital plans, electrical distribution capital plans.  And I noted that you said you'd filed them in the last four rate cases, 2008, '09, '10, and '11.

And my question was:  What was done before that?  Were there comparable analyses done?  Or has this been a case of a sort of a gradual ramp-up of your planning capability and the intensity and extensiveness of the plan from a period back around -- you know, from the beginning, right of when you were –- of the deregulation through the current years?

Can you give me a bit of a feel for what happened prior to 2008 and how it evolved?

MR. HAINES:  Yeah.  I certainly don't want to say that we didn't have a capital plan, as an organization, that has, obviously, intensive capital requirements.

However, when I came here in '05, I described the fact that I wasn't satisfied that we had a comprehensive capital plan necessary to achieve the goals of a long-term, viable, and reliable distribution system, and that -- if I could articulate it this way -- that I felt that we perhaps had something like 20 percent of the detail that we needed, but we knew intuitively that we were investing at a rate that was below even the amortization rate at the time.

So just kind of intuitively, and based on the experience that I brought to the table, I knew that we needed an increase in capital investment; how much, where, what priority, we didn't have those kinds of information.

So we undertook to prepare far more analysis on where the asset is, what is the state of that asset, and on what basis we would prioritize the replacement of that asset.


And so you've referred to a series of undertakings that have happened through the subsequent periods to get a much better understanding of the plant that exists today and its state and need for repair.  And so today I would describe it as being in an 80 percent certainty position.


In other words, will there be things that -- you know, a stone that we flip over and find something unexpectedly?  I must say, candidly, it would be naive to say that there won't be.


Have we fully costed out things -- you know, obligations under the act for smart grid and for the enablement of renewable generation and the electric car and other matters we described earlier regarding Hydro One and new supplies to Toronto?  Those sorts of things I think are still in that 20 percent uncertainty bucket.


So we've come from a 20 percent view of the plant to an 80 percent view of the plant and its needs today.  And so we've come through a -- I'll call it a generation of better planning, so that we can now come before you and say, yes, this amount that we are asking for representing a much-needed investment.  We know where to spend it, and we can spend it effectively.


And so we've come a long way, I believe, in those six years.


MR. BRETT:  Just on that question of effectively, this was going to be later on in my series, but maybe I'll put it in now.  You've got some fairly significant numbers in proposed capital expenditures in the three-year period upcoming.


Are you confident that you have the capability to spend that money in those years, the bandwidth, as some people say?


MR. McLORG:  Absolutely.  It has certainly been an issue that many have asked.  You know, as we went, from 100 million to 400 million, the question was always:  Can we achieve that?  And the answer is yes.  We have the confidence today.  We have -- one of the major changes since we arrived in '05 was the fact that we now have a contractor community available to us who can bring skilled resources to bear when we need them.


And so, you know, I can tell you that I personally have had conversations with the leaders of those organizations who have assured me that they will find the resources necessary to deliver the capital plan we are proposing.


We also today have over 130 apprentices that are going through various levels of training, and so they will be a part of a solution as well.


And so we are very confident, and I think we've now got a track record of five or six years of being able to deliver the capital plan that we set out to deliver and that we received approval to deliver.


MR. BRETT:  Just a question that your answer raises.  You mentioned that you now have available to you a significant contractor community.  That sounds like a structural change.  Is that something that you didn't have before?  Is this like a change in collective agreements or a change in approach to --


MR. HAINES:  It's a change in approach to achieving a very, you know, large-scale change in capital program.  I described earlier this morning that about $140 million of our $400 million this year will be achieved through the use of contractors.


MR. BRETT:  Mm-hm.


MR. HAINES:  If I look back when we were at $132 million in '05, we had some contractors -- I forget the exact number, but right around $20 million of capital was performed, and they were simply doing civil work, so concrete duct systems and other type systems.


Today we have what I would describe as a full-process contractor arrangement, so it's kind of cradle to grave, where the contractor community provides the full service of design, procurement, delivery of the entire project, including the electrical work.


And so we've been able to achieve the capital plan ramp-up through the use of that contractor community.


MR. BRETT:  Just a change in pace for a moment.  Mr. McLorg, this wasn't in my original list of questions and I wondered whether to ask it, but just bearing in mind what's happening in Toronto now, and some of your comments where you distinguished between revenue producing cap-ex and non-revenue producing cap-ex, which I found quite interesting, we're seeing the construction of dozens of major condominium buildings in the GTA.  Are these buildings -- are you able to get contributions in aid of construction from condominium developers?


MR. HAINES:  Yeah, I'll respond to this, if I can.  Toronto, as you may know, is one of the world leaders in the construction of multi-dwelling -- you know, condominium-type buildings.  In fact, I recently spoke at the economic development committee of the City of Toronto, which was receiving a report.  I think the number at that time, a month ago, was 132 condominiums are under construction in Toronto today.


MR. BRETT:  Huge.


MR. HAINES:  The way that we achieve that is a part of our capital plan is assigned for these new connections.  And there is an economic test associated with those new connections to ensure that they are paying the associated incremental capital cost that they contribute.


And so we'd run an economic test, and they provide a contribution associated with that capital work.  I think the number is around $30 million this year of capital work associated with those customers, with which we receive an economic contribution.


MR. BRETT:  Now, Mr. Couillard, I have a couple of questions for you, if you could turn up your evidence.  This gets into the financial side of things, and partly this is informational.


It may reflect my own lack of understanding.  And, in part, you've already addressed this.  I think Mr. Haines has addressed this, and I think Mr. McLorg has addressed this.  The question is for anybody, but I'll start with you, since it's your evidence.


You say at page 3 of your evidence, starting at line 4, and I'll just read it briefly here, you say:

"Second, as Standard & Poor's has noted on page 4 in Exhibit..."


Such and such:

"... continuing to spend on capital absent explicit regulatory approvals will lead to negative ratings consequences.  Negative ratings consequences would result because the company's leverage ratios would increase to unacceptably high level since the incremental capital would not be in rate base."


It's the last phrase I just want to confirm.  So what you're saying is, as I understand it -- or is what you're saying that under an IRM regime there are no additions to rate base during the term of the regime, other than perhaps the first year of that regime, as the spillover from the cost of service year.  Is that what you're saying?  So effectively that money, those loans -- well, let me just stop there.


There's no in addition to rate base?


MR. COUILLARD:  Well, what I'm saying is that if we were to spend the amount of money that is required for the system - in our particular case, for 2012, close to $600 million - we would not have this amount in rates.  The only thing we would have in rates is the amount of depreciation, of about $140 million, which creates a significant deficiency for us from a cash flow perspective, which becomes untenable for us, you know, over a couple of years, because, you know, if I don't have that in rates, very quickly I have to leverage -- the company would leverage to an unacceptable level and we would breach -- within two years, 24 months, we'll breach our covenant ratio on all our bonds.


What the rating agencies have stated to us, and, actually, everybody -- all the investors we talked to is that if we start to spend above the amount approved by the OEB on either a cost of service or an IRM - I mean, you know, for them it's just whatever you have approved, you have to spend - then there would be some consequences to that, depending on the level.


So, you know, if any given year we go over by $10 million versus the approved level, that is not something that they would see as a significant adverse effect.  But in this particular case, we would have 140 million with a need of $600 million.  And the rating agencies were quite clear that, you know, their expectation is that we would curtail our spending to the $140 million or otherwise there would be some significant -- some credit rating implication.


MR. BRETT:  That's quite helpful.  In other words, you're saying that their view of the world is if you start -- any utility that is spending significantly above its approved capital, that is not a good thing from their point of view, and it's going to turn very bad after a certain period of time, I guess is what you're --


MR. COUILLARD:  It turns bad very quickly.


MR. HAINES:  I wonder if I could add another element to that response.


Mr. Couillard explained the scenario where we go down an IRM path and we spend the money, and within 24 months we're offside.  There is another element to the question, however, and it's, if we go down the IRM path and we don't spend the money, and we come to the true-up year, the rebasing year, we need to then spend -- our forecast is $2.2 billion.


So if that was possible -- and we'll get into later if that's possible or not, but if that was possible, 1.1 billion of that would not go into rates until 2019.  That would further put us offside two years following that rebasing year.


MR. BRETT:  May I just stop you there?  It wouldn't do that because of what?  First of all, half-year rule would take half of it in and then nothing?  Then the rate base couldn't change from then on, through the period of the IRM?


MR. HAINES:  That's right, so you go 140, 140, 140, 2.2 billion, 160, 160, 160, something else.


And so that year, that rebasing year, in order to achieve the work, the snow that has ploughed -- gone in front of the blade, in order to achieve that, you spend 2.2 billion.  50 percent of that doesn't go into the rates, and so you carry the cost of that billion dollars for the next three years.  Within two of those three years, as Mr. Couillard has described, we're offside on our covenants.  And so whether you're two years from now or five years from now, under that path of IRM, we're in breach of our covenants and the $2 billion become payable.


MS. HARE:  Could I just interrupt for a second, Mr. Haines?  Either I don't understand or you misspoke.


You said would not come into rates until 2019?


MR. HAINES:  The next IRM rebasing year.


MS. HARE:  Assuming that -- sorry.  Take me through that.  So '12, '13, '14 are IRM.  '15 would be --


MR. HAINES:  '15 is a rebasing year.  '16, '17, '18 are not. '19 is.  That was my understanding of the mechanism.


MR. BRETT:  Thank you for that.  Thanks for the clarification.


And now, just, again, the -- I think everybody probably knows this, perhaps, but me, but the prudency of those expenditures are, then, under an IRM regime that we've just been discussing, the prudency would be determined at the end, would it?  At the rebasing; is that your understanding?


MR. HAINES:  That's right.  You're in a -- now effectively a historic test year model.  I don't know what I would call it, but that's effectively what you have.  So not only would you have the lag; you have uncertainty associated with it, so it adds an additional risk to the organization, and I assume the markets would reflect that in their cost of capital.


MR. BRETT:  Thank you.  Now, there's one other question in this area.  Well, actually two other questions.  And it may be that we've already got the answer, but let me just go there anyway.


On schedule 2, that's BOMA Interrogatory No. 2...


Okay.  Here we go.


In No. 2, I had asked you if the -- no, I'm sorry, I'm ahead of myself.  I'm going to ask you to go back.  I apologize.  This question comes in a moment.


Go back to the document that I left with you, called "Cost of capital."  It's a short sort of piece of the evidence, Exhibit E.  And what I'm interested in are the appendices; there's three Standard & Poor's documents that are appended to that.


The first is sort of a report, an overall report, on Toronto Hydro, of the sort that they do -- sorry.  The first is not a Standard & Poor's.  It's a DBRS report on Toronto Hydro, kind of a status report.


The second two are Standard & Poor's.  What I take them to be is outlook, outlook documents for the company.


And so if we look at the most recent of those, there was one filed on February the 16th, but there was another filed just recently, an update that's dated August something.


Do you have that?  It would be the last one there in the package.


MR.COUILLARD:  Not in your package.


MR. BRETT:  It's called "Global credit portal, Toronto Hydro Corporation, August 30, 2011."


MR.COUILLARD:  I only have the one from the 16th.


MR. BRETT:  Oh, you do?


MR.COUILLARD:  S&P.  I'm missing one of these Standard & Poor's.


MR. BRETT:  I'm sorry about that.  That was my mistake.  I must have misassembled them there.  It wasn't deliberate.


Okay.  Let me just make sure I'm quoting from the right one here.  Sorry about this.


I'm going quote you a passage here from page 3.  You state:

"We expect Toronto Hydro to have significant capital spending related to its aging asset base in the next five to seven years, which would lead to negative free cash flow."


Do you have that?


MR.COUILLARD:  Yes.


MR. BRETT:  Okay.  And then they go on to say:

"However, we believe that the company will manage to maintain a stable financial credit metrics..."


Or a "stable financial credit metric" I guess it should read.

"...given its strategy to pursue resetting its revenue requirement and rate base every year, which will allow it to earn additional cash flow and flexibility in the timing of the capital spending."


Now, I think Mr. Haines has already answered that.  That was really -- you addressed that earlier this morning, so let's pass over that and get on with things.  But let me ask you a general question, because you folks are both accountants.  You both dealt with the financial side of different corporations over the years.


What is your view of the importance of a Standard & Poor's or a DBRS report?  It's a ratings outlook.  Who reads it and what is its importance, in your view?


MR. HAINES:  Generally speaking, it allows us to find efficient capital.  You know, the credit rating agencies providing that kind of context for potential investors allow us to achieve the kind of spreads that we are able to achieve, and allow us to not only find efficient capital but find capital, I suppose.


And that, of course, immediately benefits the customer through a low cost of capital regime.


MR.COUILLARD:  If I might add, over the last few years I have done several due diligence sessions with potential - with investors and bondholders, and the premises for them is always to rely on the credit rating agencies in order to decide if they're going invest in the company.


And the most significant question we have in regards to the investment in our infrastructures is:  Are you going be able to recoup the investment in rates?  Because it would send a very detrimental message to the investment community if we were not able to -- you know, if we were to go and spend money above what we have approved in rates.  And it's always a significant concern, especially because we have made public the fact, through proceedings here or through conferences with investors, that Toronto is in need of infrastructure renewal for its electricity distribution system.


MR. BRETT:  Okay.  Now, in a further quote -- this is from the DBRS report, in section 4 of the DBRS report, which is the first of those three appendices to the document you have.  I just want to read one piece of this.  It says:

"Over the next three years Toronto Hydro will have to refinance 50 percent (715 million) of its outstanding debt, exposing itself to interest rate risk.  However, because much of this debt was incurred..."


Well, we can go on:

"...on market-based interest rate on third-party debt should be fully recoverable from ratepayers."


Now, here's the part I want to stress, I want to ask you about:

"Furthermore, DBRS believes the company will go to the market with longer dated debentures and spread out the maturities in an effort to better match obligations with its average asset life and reduce the refinancing of a high percentage of outstanding debt during a short period of time."


So it sounds like there there they're saying you're going to refine your financing structure a little bit, your financing approach to -- what, to make it less -- to give yourself a little more breathing room in terms or --


MR. HAINES:  A little less lumpy, I think would be the description, to smooth those notes that are coming due in any particular period.  Personally, we don't have an absolute on this, but I wouldn't want to see, say, more than a billion dollars of notes coming in a 12-month period, something like that.  So a smoothed approach, it would be, I think, sound financial strategy.


MR. BRETT:  Does it also go, though, to giving you a lower annual payment?


MR. HAINES:  Well, that depends.  It depends what the curve looks like.  Sometimes the longer term can be more expensive, you know, relative to term.


So what we try to find is the right balance between term and price.  So sometimes that might mean 10 years, sometimes it might mean 30.


MR. BRETT:  Okay.  I take your point.


Now I can go to that other interrogatory of ours, No. 2, which -- and this is schedule 2.  This is a short question.


I'd asked you - and I think I'm getting close to the end here - I'd ask asked you to provide for the last five years, year by year, the company's capital expenditures, both proposed and approved, either in settlement conference or in a Board decision, the depreciation and the excess.  So this is going back.  Most of the tables are going forward, but this one you answered -- and you -- it looks -- so my first question is:  These numbers that you show in the little table at the bottom of page 1, are these the total capital expenditure or the distribution network infrastructure capital expenditure numbers for those years?


MR. HAINES:  It's our total.


MR. BRETT:  Those are totals, okay.  So they should be compared to the -- compared for -- I guess what I'm going to do, then, is compare them in the rest of my question to the totals you're talking about from here on out.


MR. HAINES:  Yes.


MR. BRETT:  I just want to make sure I'm dealing with apples and apples.


Okay.  Now I'd like to go to your evidence again, Mr. Couillard, and I want you to look at page 3 of your evidence, question 4 and answer 4.  You say there that, "at which time the cost pressures" -- I'm just going quote this answer, and then ask you a couple of questions about it.


This is on page 2 of 5 of Mr. Couillard's evidence, question 4, answer 4:

"The cost pressures that would flow from the implementation of IRM, in the face of THESL's clear and on-going urgent need to replace large portions of the distribution system will place an untenable financial burden on the company should the company to continue to spend cap-ex dollars consistent with the amount and order of magnitude that the Board approved in 2009, 2010 and 2011..."


In other words, even if you didn't increase the amounts of capital expenditure beyond the numbers that I show in that table I just referred you to that were approved by the Board in 2008, '09 and '10 -- and just to recollect, those numbers were capital expenditures 2008, $230 million; 2009, 240; 2010, 350.


Now, you're saying even if you spent just that amount of money, under an IRM, you would be in difficulty?


MR. COUILLARD:  That is correct.


MR. BRETT:  And then the other thing you say here is that -- let me go back to that sentence:

"...will place an untenable financial burden on the company should the company to continue to spend cap-ex dollars consistent with the amount and order of magnitude that the Board approved in 2009, 2010 and 2011..."


I guess that should be 2008, '09 and '10:

"...and which is the bare minimum of what THESL needs to spend on its distribution system annually."


So what do you mean by "bare minimum" there?


MR. COUILLARD:  That was the bare minimum at the time that we accepted through a settlement, and considering the snowplough effect that we've talked about earlier, we delayed some of the projects, but those projects will need to be done at one point.


So at that time, that was the bare minimum that we --


MR. BRETT:  You were looking backwards.  I mean, this evidence reads "needs to spend", but you really are saying that you needed to spend it in those years.  You need to spend more going forward.  Is that what you're saying?  Or are you saying that if you could spend these amounts going forward under cost of service, you could be sufficiently reimbursed?


MR. COUILLARD:  No.  What I'm saying, those were the bare minimum I needed to spend for those years.


MR. BRETT:  Okay.  Those are my questions.  Thank you.


MS. CHAPLIN:  Thank you, Mr. Brett.  Mr. Crocker.

Cross-Examination by Mr. Crocker

MR. CROCKER:  Thank you, Madam Chair.


Panel, you are familiar with the letter that the Board sent to all licensed electricity distributors on April 20th, 2010, aren't you?


MR. HAINES:  Yes.


MR. CROCKER:  Okay.  And in that letter, the Board indicated that the distributor must clearly demonstrate why and how it cannot adequately manage its resources and financial needs in order to be allowed an early cost of service application; correct?


MR. HAINES:  That's what the letter said, yes.


MR. CROCKER:  Right.  And I assume that this application addresses the difficulty you are having at managing your resources and your financial needs; correct?


MR. HAINES:  I think it's a little more structural than that.  We're not here to talk about an off-ramp or going to a rebasing scenario.  We're asking:  What is the regulatory regime in Ontario now?


And so we noted in, I think, the Ottawa case where the Board said Toronto Hydro is not on IRM.  They didn't say in our last decision that Toronto Hydro will be filing an IRM application.  They left it to Toronto Hydro to choose the application that best suited its circumstances.


And so, based on that direction, we filed the one that we think is the most responsible approach, which is the cost of service model.  We believe that cost of service is still an option available for utilities in Ontario.  So do the capital markets, as Mr. Couillard has described earlier.


And so it's that matter that we're talking about, not the fact that we are all on IRM and we are talking about an off-ramp that make our costs impossible to live in an IRM regime.


MR. CROCKER:  I understand that.  But the application, does it not -- or do you not believe should address the issue of why you cannot adequately manage your resources and financial needs?  That's your obligation here.  The Board said that in its 2010 decision, as well.  You recognize that?


MR. McLORG:  Well, Mr. Crocker, if I could start with that, I think it's certainly our position that in the body of our application, and as well with respect to the preliminary evidence or the evidence related to the preliminary issue, we have demonstrated the categorical or the structural reasons why we would be placed in an untenable situation if IRM PCI were imposed on us.


So we've provided, I think, extensive evidence as to the categorical or structural reasons why IRM PCI would produce a deficiency in the specified circumstances that we discuss, and we have extensively documented how and why we are in those circumstances.


So we believe that with the evidence before the Board right now, we have established, at the very minimum, a prima facie case that indicates that the imposition of IRM could have untoward adverse consequences for THESL and its customers, and that there are very good reasons why the Board should proceed to hear our application on a cost of service basis.


So we believe that we have met the standard that the Board has specified, and that's the one that you mention, which is that we are unable to -- under the assumption of IRM PCI, we would be unable to manage our resources and financial needs, given our needs to reinvest in the system.


MR. CROCKER:  And you have focussed that primarily, almost exclusively, on your capital requirements and the need to replace aging infrastructure, haven't you?


MR. HAINES:  No, I think that there are two elements to it.  It's not only the capital infrastructure challenge and the costs associated with that.  It's also the people, the aging of our workforce and the necessity to hire a new workforce and train them appropriately, put them through the trades programs, et cetera, and there are O&M consequences associated with that.


And so both of those drivers result in what we believe the best regulatory scheme, which is the cost of service model.


MR. CROCKER:  But do you not also think that you had an obligation to demonstrate, on the other hand, how you have managed your resources in order to give the Board some context as to the urgency of this need, both the O&M, but particularly the capital need?


And what I mean is this.


You mentioned kind of anecdotally, Mr. Haines, in your witness statement issues of productivity, and Ms. Sebalj canvassed some of that with you.  And Mr. McLorg, you also sort of anecdotally dealt with the people issue in your witness statement.


But you didn't deal with it in the introductory piece of your prefiled evidence, the manner of regulation for THESL, the Exhibit A1, tab 1, schedule 2.  You didn't give anybody an opportunity to ask IRs about it.  You didn't give the Board the kind of context that might have helped for them to put your need into some context, if you understand what I mean.


MR. HAINES:  Yeah, and I suppose I might disagree, first of all, that our examples are anecdotal.  We've given thousands of pages of evidence, which we are, you know, asking for the right to be heard on.


And so we think we've got a good story of productivity and why we need to run the company we need to.


We should not, though, we should not confuse productivity simply being one of spending less to do less.  There's also productivity that can be measured by doing more with less.


And so the IRM model concludes or draws the assumption that productivity is measured by simply spending less.  Well, that's not the circumstances that Toronto Hydro finds itself in, and thousands of pages of evidence have proven that.  And we're asking for those to be examined.


So I'm not sure that I agree with your context that you're asking in the question.


The second thing is -- I think that is important to put on the record is a rebasing year is not a cost of service year.  They are fundamentally different in regulation.  The mechanisms will be different.


And so when did cost of service get removed from Ontario?  When did that optionality of the utility coming forward with a cost of service filing get removed?  Because rebasing is not cost of service.


And so we're not talking about:  Okay.  Every utility is now in an IRM model, and all we're deciding is if you qualify for an off-ramp, which is a rebasing off-ramp, and you will somehow, then, be forced back in.


And so those are the important distinctions, the structural distinctions that we're asking to be considered.


MR. CROCKER:  I'm not suggesting that you should not necessarily be eligible for cost of service.  I didn't mean to suggest -- I didn't mean to put my questions in the context of rebasing.  We don't -- I'm not suggesting that you shouldn't have an opportunity to apply for cost of service.


What I'm suggesting is if you had provided a more substantive discussion of how you were managing your resources, and still had the need for the capital requirement, that need would sound more like a need than a threat, if you understand what I mean.


MR. McLORG:  Well, Mr. Crocker, if I could respond to that, to begin with, we by no means intend to make anything like a threat in these circumstances.  So we simply don't accept that characterization.


And secondly, the evidence that was led in addition to the substance of our cost of service application, which was initially the exhibit that you referred to, A1, tab 1, schedule 2, the manner of regulation, was intended to demonstrate that there are circumstances in which there are structural needs that aren't met by IRM, and that we are in those circumstances, and that in order to discharge our even minimum obligations as a distributor, and frankly, to meet the objectives of the Board as laid out in the statute, we saw that IRM would be untenable for us.


So that was our first attempt to lead meaningful evidence on this issue for the benefit of the Board and all the intervenors.


That was followed, I would add, by an opportunity that was provided by the Board in Procedural Order No. 1 to ask extensive, unlimited interrogatories, specifically in relation to the preliminary issue.


So I think that there's been a thorough opportunity to canvass the theoretical and -- dare I say -- practical or real underpinnings for our application.


MR. CROCKER:  And just to follow up on something that you've said, which was where I was going to go next anyway, you're not suggesting that -- in this application that THESL should not be subject to IRM now, just now?  You're saying THESL shouldn't, period, be subject to IRM, that the cost of service application model fits your needs -- more than your needs, but fits the circumstances better for THESL and classes of distributors like THESL.


That's what you're saying, aren't you?


MR. HAINES:  I think what we're saying -- and I don't want to use the word "never"; I think that's inappropriate.


So what we're saying is in these circumstances at this time, given the model, the cost of service model or the IRM model, this is the best approach for Toronto Hydro currently, given the costs that it is facing.


Whether the IRM model is modified in the future, as we talked about this morning, or whether our circumstances change in the future, we'll make those assessments in the future what the best model is.  But we're not suggesting that never is our policy position, by no means.  We look for efficient forms of regulation, as well.


MR. McLORG:  And I think, Mr. Crocker, just to add, it is clearly our position on the record that we are anxious to work with the Board -- and we will, of course, be taking a fully participatory role in the RRFE consultations -- in order to work toward development of an evolving regulatory framework that can be applied in Ontario.


MR. CROCKER:  I want to canvass another area that I was going to talk about, that Ms. Sebalj also talked about, but I think I just want to expand on what -- give you an opportunity to expand on what you've said and clarify for me the meaning of what you said.


Ms. Sebalj asked you about the circumstances surrounding your agreeing to the capital in your 2010 application.  In fact, you also agreed with respect to capital, with respect -- in the previous, your previous application, as well.  That's correct, isn't it?


MR. HAINES:  Yeah.  Both the intervenors and Toronto Hydro and ultimately the Ontario Energy Board agreed.


MR. CROCKER:  Right.  You have also said in your prefiled material and in your witness statements that particularly your capital requirements are not new, and you have known, as you have said in your evidence today, since 2005, at least, that you were going to have these needs to replace elements of your system; correct?


MR. HAINES:  I think the picture has become more clear over those five or six years, as a result of the studies and the work that we've done.  But intuitively, we knew that the trajectory had to change.  That's right.


MR. CROCKER:  Right.  You also knew, or if not, perhaps should have, that it was going to be Toronto Hydro's turn to be subject to IRM.


Do you not agree with that?


MR. HAINES:  No.


MR. CROCKER:  You had no inkling, no foresight, that Toronto Hydro was going to be among all of the utilities that was going to be subject to IRM.


MR. HAINES:  No.


MR. CROCKER:  Did you think that Toronto Hydro was somehow special?


MR. HAINES:  No.


MR. CROCKER:  Why, then, did you not expect to be dealt with by -- in that way?


MR. HAINES:  Because we still believe that cost of service is an option available to the utility.


MR. McLORG:  And our filings were accepted by the Board, Mr. Crocker.


MR. CROCKER:  Historical filings?


MR. McLORG:  That's correct.  And that's the basis upon which we are running our business.


You know, it's clearly the case that THESL was and is aware that the predominant model of regulation in Ontario is the IRM model.  And we don't take exception to that, and we believe that there are many circumstances in which the IRM model can work as intended.


But it was always our perception that the IRM model was designed around or implicitly based on circumstances that we did not meet, and therefore we've brought, as Mr. Haines said earlier, in each successive application, what we thought was the most responsible application that we could bring to the Board to bring, you know, full exposure to all of our circumstances and our proposals to deal with them.


MR. CROCKER:  But how was Toronto Hydro different than everybody else and, therefore, wouldn't be subject to the predominant regulatory scheme?  Why wouldn't you anticipate that?


MR. HAINES:  You know, we've spent the morning describing as best we can the circumstances of our organization, the capital and other matters.  We've described the consequences of being in the IRM model, which are pretty sobering.


I mean, Mr. Couillard spoke that within 24 months, $2 billion worth of bonds become payable.  And so do we believe that we would be forced into that model with that knowledge?  Of course not.


And so maybe we missed it, but when did cost of service get removed as an option in this province?


MR. CROCKER:  But didn't you put yourself into that position by agreeing to the -- with the intervenors, over the last two applications, to your capital requirements then?


MR. McLORG:  No.


MR. HAINES:  Did we force ourselves into an IRM model by a negotiated settlement on a cost of service model?


MR. CROCKER:  No.  Did you not put yourself into the position that you are in now with these significant large capital --


MR. HAINES:  So let's look at the real numbers for a minute.  We have about $5.7 billion worth of capital to perform over the next ten years - 5.7 billion.  We may have negotiated down, as I think we went through this morning, a couple hundred million dollars.  Let's look at orders of magnitude here for a minute.


So are you asking, by settling for something less than we were asking for over the last two years, that we have put ourselves into a $5.7 billion deficit?  Of course not.


And so, again, we said the reason we settled was that was a ramping up that was amenable or agreeable to the parties that we could live with.  Mr. Couillard talked about we have deferred capital programs.  They haven't gone way.  They have been deferred, but the snow continues to build in front of the blade.  But that doesn't mean that somehow that has put us in a construct that we can go to 140 million worth of capital, which is what the IRM model requires us to do.


So how do we go from 132 in '05, ramping up to 400 this year, down to 140 next year, living there for four or five years, and having a huge balloon?  How does that reflect the long-term sustainable capital structure?  It doesn't make sense.


And so for us - for us - this model doesn't work.  It might work for others, but for us it doesn't work.


MR. CROCKER:  Are there others in -- in your evidence, you talked about class of utilities, I think, was your expression.  What other utilities are in that class?


MR. HAINES:  I don't know.


MR. McLORG:  We were asked a similar question this morning, Mr. Crocker, and I think our answer at the time was essentially that we believe that Toronto Hydro's circumstances are not unlike a subset of other distributors in the province.


There are other long-established cities in the province.  We can't comment on their particular circumstances, but we don't consider ourselves unique in this respect.


MR. CROCKER:  You don't consider yourselves unique, but you can't tell me or tell the Board who else is like you?


MR. HAINES:  Well, I think what we've tried to describe is we concede circumstances that the model works and when it doesn't work.  The circumstances, can we look around with the map together and say who is seeing growth in their municipalities and who isn't and who has got old plant?  Sure, we can do an exercise like that.  It's not going to be helpful.


I'm sure there are utilities like Toronto Hydro out there that aren't seeing growth, material growth, in their customer base and who have aging infrastructure.  So I would assume, not knowing their operations, that that would put them into a similar position to where we are today, but I don't know who they are.  We haven't done the exercise.


MR. CROCKER:  Have you addressed your capital needs consistently over the past -- you choose the number of years, but at least since 2005, are you satisfied that you've addressed the needs systematically and progressively over that period of time?


MR. HAINES:  I agree we've done it progressively.  Have we addressed the needs?  No.  120,000 customers -- a quarter of a million people's lights go out every six weeks.  Would I like that not to be the circumstance?  Yes.  Would I like to actually have been able to have the intervenors agree with us on the amount of capital that we needed to spend?  Yes.


But did we find a compromise, a solution that worked for everybody?  Yes.  And so have we been able to see some benefits?  We've got from 80 feeders to 40 feeders, you know, a quarter of a million people less are experiencing outages.


We've gone from 100 million to 400 million.  All of those things are the facts; right?  And so we have found the best balance of everybody's interests in order to achieve that.


MR. CROCKER:  Can you turn to page 9, Mr. Haines, of your witness statement, the graph?


MR. HAINES:  Yes, I have it.


MR. CROCKER:  This graph, if I understand what it depicts, what it's showing, doesn't indicate to me that you have kind of progressively and systematically, year over year, applied ever-increasing spending to your capital requirements.


MR. HAINES:  What I see on the top line is an upward trend.  So we have.  Why are there variables?  There have been some unusual matters with smart metering and other projects that have come and gone.  And so -- but the base replacement of our infrastructure has been consistently growing year over year.


MR. CROCKER:  I'm not suggesting that it hasn't.  It clearly has, but there are periods where your expenditures have dropped.  That's correct, isn't it?


MR. HAINES:  As a result of a specific program that was completed, there may have been a drop, yes.


MR. CROCKER:  Okay.  So you do have flexibility in terms of where you allocate your resources?


MR. HAINES:  Yeah, the decisions have allowed a pool of capital, which we have been able to prioritize, subject to a few, you know, statutory obligations, for example, the obligation to serve.  That's not, from our perspective, you know, a choice for the company to make.


When I think about the implementation of smart meters, that was a regulatory -- a regulated requirement.  So those kind of programs are non-discretionary, if I could describe them as that for a minute.  But within the context of a replacement of infrastructure, it's true that we've had discretion as to how we've spent the money.


MR. CROCKER:  And to some extent, that discretion has put you in the position that you are in now, asking the Board to receive your cost of service application because your capital needs don't fit an IRM model?


MR. HAINES:  Absolutely not.


MR. McLORG:  Really the underlying cause of the expenditure, Mr. Crocker, is the ongoing aging of the plant.  And to arrest a program of addressing that plant doesn't arrest the ongoing deterioration of the plant.  The plant continues to age, just like I do.


MR. CROCKER:  I don't have anything further.  Thank you.


MS. CHAPLIN:  Thank you, Mr. Crocker.  Mr. Buonaguro.

Cross-Examination by Mr. Buonaguro

MR. BUONAGURO:  Thank you.  Good afternoon, panel.


MR. HAINES:  Good afternoon.


MS. CHAPLIN:  Maybe just before you start, I think we would aim to break for lunch sometime around 1:00, so if you reach a suitable --


MR. BUONAGURO:  I'm fairly comfortable I'll be done before then.


MS. CHAPLIN:  Excellent.


MR. BUONAGURO:  Thanks.


A few times you've talked about the frequency of outages and the number of people, and I just want to make sure I understood the scale of that.  So I think you said 250,000 people every six weeks suffer an outage?


MR. HAINES:  Yes, on average.


MR. BUONAGURO:  Can you just clarify what the definition of an outage is for that --


MR. HAINES:  An interruption lasting more than one minute.


MR. BUONAGURO:  Okay.  So minimum one minute, and then maximum could be...


MR. HAINES:  Hopefully not indefinite, but it could be multiple days in the case of a severe storm.


MR. BUONAGURO:  Thank you.  I just wanted to make sure I understood the definition.


Now, I'm going to start briefly with Exhibit A1, tab 1, schedule 2, page 28, which is table 5.  I'm just going talk about it.  You can pull it up if you would like, but I'm just talking about it.


And that's the table that basically says, if you fit what we want to do in our cost of service application over the next three years under an IRM regime, these are the consequences, culminating in a negative ROE in 2014 of negative 3.1 percent.  Okay?  That's how I understand that table; is that correct?


MR. McLORG:  I think that's fair.


MR. BUONAGURO:  Okay.  And my understanding from the text around the table and the testimony is that that's -- and I've referred to it in VECC IR No. 2, which is Exhibit R1, tab 6, schedule 2, as hypothetical, because my understanding is if that were to happen, if you were under IRM and -- well, if you were put under IRM for the next three years, you would never actually do that plan.  The plan that's implicit or explicit in the cost of service application that's before the Board, you would never do that under IRM?


MR. HAINES:  That's right.  You know, it's a hypothetical scenario because -- for two reasons, as you heard Mr. Couillard.  Our bonds will be called before then, and so you would never get to that circumstance, as well as the fact that the markets wouldn't allow to us get there immediately.


And so it's very unlikely that model would happen.


MR. BUONAGURO:  Thank you.


So that was my understanding, and so that's why we asked our Interrogatory No. 2, which I gave the reference for already, and asked for an update to table 5 based on what you would actually do under IRM.


MR. HAINES:  Yeah.


MR. BUONAGURO:  And for the first part we were referred to Board Staff Interrogatory No. 3, which is Exhibit R1, tab 1, schedule 3, which you actually went through with Board Staff briefly.


And so -- and I just wanted to make sure I understood.


So my understanding is that that table, which, based on the assumptions that you had to make in order to come up with the table, suggests that your planned spending over the next three years under IRM, based on your assumptions, would result in an effective ROE of approximately 8.1 percent.


So we had that conversation.  I just wanted to --


MR. HAINES:  That's right.


MR. BUONAGURO:  -- confirm it.


MR. HAINES:  Assuming we spend at the allowed amount.


MR. BUONAGURO:  Right.  So there could be variances; you could have emergency OM&A that you have to spend or something like that.  But within certain bounds, that's what you would expect to do under IRM, if that's ultimately what happened in this application?  That's what that table represents?


MR. HAINES:  Subject to what I described earlier.  There are some costs that we haven't talked about yet, in terms of the recovery of those costs.


But all things being equal, subject to that one condition, that's right.


MR. BUONAGURO:  Okay.  So -- okay.


MR. McLORG:  And just to reiterate, Mr. Buonaguro, that scenario is basically the one where we suffer a diminution of equity returns as a result of the unrecognized rate base from 2011.


MR. BUONAGURO:  Okay.  And when you say that, I think what you're telling me is that -- I think you may have already talked about this, but the difference between the embedded 9.58 percent ROE and the 8.1 percent effective ROE is largely, if not entirely, based on the fact that certain capital expenses in 2011 haven't been --


MR. HAINES:  $200 million.


I stand corrected.  120 million.


MR. BUONAGURO:  Okay.  Thank you.


And then my understanding is that -- and this is also in the IR, the VECC IR No. 2 -- you talk about the fact that you can't actually tell us right now precisely what you would do with the money that's implicit in -- or the spending that's implicit in this table, because you haven't actually planned for IRM; you've planned for the cost of service and presented cost of service.


MR. HAINES:  Right.


MR. BUONAGURO:  But you would work backwards from whatever's in here that produces an 8.1 percent effective ROE, to come up with a plan?


MR. HAINES:  I think that's very true on a detailed level, but we have sketched out -- I'll call it sketched out -- back of the envelope, what we would do.  And maybe -would it be helpful for me to describe that or do you have a clear understanding of that?


MR. BUONAGURO:  I think you've talked about it in certain parts.  I don't need it for my purposes, but I think I might hear that in redirect.


Thank you.


Which means I only really have one more question or one set of questions, and it has to do with Exhibit R1, tab 6, schedule 4, which is another one of our IRs.  It's an IR that was answered the second time around.


And we were asking about the –- we were asking you to estimate the value of obsolete facilities and real estate.  And I want to make sure I understood the answer.


At page 2 of the response -- and normally would put this on the screens but I have a very short cross-examination today, so I thought I wouldn't do it.  I'm sorry if people were expecting that.


At the second full paragraph, it says:

"For THESL's 2012 rates application, the net after-tax gain on sale from surplus properties is forecast to be nil, as the properties that have been identified as potentially surplus could require significant environmental remediation.  THESL has not identified any surplus properties for 2013 and 2014."


I just wanted to break that down a little bit.


When you say you haven't identified surplus properties, do you mean you haven't identified surplus properties that you would try to sell in any particular year?  Or do you actually mean there are no surplus properties?


MR. HAINES:  There are no material surplus properties, and so -- do we have a list of properties where we are not sure how we are going to use them yet?  There's a few, and there are properties that may need some environmental work before they're available for sale, but there is nothing, nothing, in the order of magnitude that would defer or in any way help in compensating for the difference between the IRM and the cost of service model.


MR. BUONAGURO:  So I think maybe you can figure out where I got the idea for the IR.  A few years ago, there was a forecasted sale of properties, which netted -- or was supposed to net about $10 million after -- or a net gain of $10 million.


MR. HAINES:  Which it didn't in the final realization, as I recall.


MR. BUONAGURO:  Which it didn't in the final realization.  But I was trying to explore the potential for that.  And what you're telling me is you do have properties, but even if you were to sell them all, after remediation costs, the net gain on a --


MR. HAINES:  Right.  In order to offset the capital deficiency we're talking about, so we're talking about going from 600 to 140, so we're short.  That gap.


Do we have properties that even come anywhere close to that?  It wouldn't even come close to the first digit.


So there is simply nothing available to offset.  And you know, I think the Ontario Energy Board's been clear on their use of the proceeds towards, you know, offsetting rates anyway.  So if we do, that's what we would be doing.


But there's simply nothing in that order of magnitude available to us.


MR. BUONAGURO:  I understand what you're saying.  When you talking about order of magnitude, you mean in terms of your -- because your answer was quite long.  You're talking about it offsetting your revenue stream, so you have to spend $600 million.  Where do I get the $600 million to spend?


And I think you noticed I was talking about it in terms of revenue environment.


MR. HAINES:  Yeah.


MR. BUONAGURO:  So potentially offsetting, if your revenue requirement shortfall was in the order of 10, 20, $30 million.


MR. HAINES:  And even with respect to the order of magnitude we had previously -- the seven million, I think, was the sort of net proceeds of the properties we sold last time -- we're not expecting anywhere near that kind of an opportunity ahead of us.


MR. BUONAGURO:  All right.  Thank you very much.  Those are my questions.


MS. CHAPLIN:  Thank you.


We'll take the lunch break now.  It's 10 to 1:00.  So we'll return in an hour.  Thank you.


--- Luncheon recess taken at 12:50 p.m.


--- On resuming at 1:58 p.m.

MS. CHAPLIN:  Please be seated.


Unless there are any preliminary matters, I believe you are next, Mr. Shepherd.
Cross-Examination by Mr. Shepherd

MR. SHEPHERD:  Thank you, Madam Chair, and I do not expect to be long.  I have five areas I want to cover.  And I'm not sure whether this question is for you, Mr. McLorg, or perhaps you, Mr. Haines.  I'm not clear yet, and perhaps you could help me with this, whether your argument is that the Board cannot impose IRM on you because -- on Toronto Hydro, because it's legally not entitled to do so - for example, because it would breach the fair return standard - or whether you are say tag the Board should not impose IRM on you because it would have inappropriate consequences or whatever, or both.


Can you tell us which your position is?


MR. RODGER:  Well, I wouldn't have Mr. Haines provide a legal opinion or an answer to the legal question, but certainly the other part I think the witness can answer.


MR. SHEPHERD:  No, sorry, Madam Chair, I think we're entitled to know what their argument is.  My cross is different depending on whether they're saying it's a legal requirement or whether they're saying it's a policy issue.


MS. CHAPLIN:  I think it would be helpful to have clear what the company's position is.  As to the legal arguments, I take it your point that those would be substantiated by you in argument.


MR. RODGER:  I think Toronto Hydro's been pretty clear in the application, and in the Board in previous decisions, that it's up to the utility to bring the application of its choice.


In this case, they brought a cost of service application.  The onus will then be on the utility, in this case Toronto Hydro, to show why it can't manage its resources and financial requirements under the IRM model.  And that's the approach we're taking.


MR. SHEPHERD:  Madam Chair, I'm sorry, I don't think that's responsive to the question.  I asked -- the first part of the question is a very simple question.  Does the company allege that imposing IRM on them under any circumstances would be a breach of the fair return standard?  It's a simple yes or no.


We deal with this differently if they think the answer is yes.


MR. McLORG:  I'm sorry, Mr. Shepherd, are we awaiting a response from the Board Panel?


MR. SHEPHERD:  I do not know.


MS. CHAPLIN:  I think I'm waiting a response from Mr. Rodger.


MR. RODGER:  Yeah, I'm not sure we're prepared to answer that question the way Mr. Shepherd has presented it.  It's nothing that I have discussed expressly with my client, and I'm not sure I can answer it or it would be fair to have them answer it at this time.


MS. CHAPLIN:  So at this point, it's not an argument you're relying upon as part of your presentation of your case with respect to the preliminary issue; is that fair?


MR. RODGER:  Well, I think I'd want to discuss it with my client, first of all, before I answer that.  I think Mr. Haines has said that, as far as he is concerned, cost of service has not been removed as an option.  It has certainly been presented as an option to Toronto Hydro, as long as they show why IRM does not work.  And that's what we've tried to do in this case.  So that's how we've approached this question, not the way Mr. Shepherd has presented it to you today.


MR. SHEPHERD:  Madam Chair, I think that puts us at a disadvantage.  I can't imagine that Mr. Rodger would not know before the application was filed whether they were making a legal argument or a policy argument.


Surely you can't file the application if you don't decide that.  And how am I supposed to know how to cross if I don't know what case they're putting forward?


If they're putting forward a case that it doesn't meet the fair return standard, then we have to talk about rates of return and things like that.  Whereas, if they're not, if it's a policy issue, then we can talk about their spending and things like that.


MS. CHAPLIN:  You could cover both, though; correct?


MR. SHEPHERD:  Except that it would be a waste, and I just promised you I wouldn't take too long.


And I don't think it's fair for the applicant to say, We're not going to tell you the basis on which we're making our argument, or we're not going to tell you in advance what it is we're asking for and the basis on which we're asking for it.


MS. CHAPLIN:  Well, I think it is clear what they are asking for.  They may not be prepared to give an answer to your question at this point, because he is -- Mr. Rodger is explaining that it is not the question as they have considered it so far.


So on that basis, unless -- I mean, what would you propose us to do, Mr. Shepherd?


MR. SHEPHERD:  Well, I'd like him to explain why -- sorry, I guess I'd like somebody to explain how they could have filed the application without asking that question and answering it for themselves.


MR. McLORG:  Ms. Chaplin, if it's helpful, I think that we can provide an answer, and we could try that approach and see how far we get with it and whether that answer is satisfactory to the Board and to Mr. Shepherd, if you're prepared to --


MS. CHAPLIN:  Why don't you proceed, Mr. McLorg?


MR. McLORG:  Okay.  Well, first of all, with respect to the second part of your question, which was the question, the normative question:  Should the Board impose IRM on THESL in its circumstances?  Our answer is, of course, clearly no.  And we think that we have shown our reasons for that answer.


As to the first part of the question, of course none of us on the panel would venture a legal opinion, but I think that it is clear from our evidence that we believe that there are circumstances under which the imposition of the IRM model could lead to a breach of the fair return standard, and we have detailed what those circumstances are, and, in particular, the circumstances around two aspects:  first of all, the unrecognized rate base in subsequent years in the IRM plan; and, as well, the difficulty that we would have as custodians of the system in trying to work with the Board to meet the Board's statutory objectives as set out in the act.


And Mr. Haines may want to have a further word about that.


MR. SHEPHERD:  That's very useful, Madam Chair.  Thank you.


Okay.  So then I'd like you to turn, if you could, to Exhibit B1, tab 2, schedule 1, and I advised your counsel that I would be asking about this.  This is your electricity distribution licence, and I saw the look on the Panel's face when Mr. Buonaguro said he wouldn't put anything on the screen, so I've prevailed upon him to put it on the screen in this case.


And we're looking at the fifth page, item 9, of this.  And do you have that, Mr. Haines or Mr. McLorg?


MR. McLORG:  Yes.  Yes, we do.


MR. SHEPHERD:  And so I guess -- item 9 says, "The licensee", that's you:

"...shall maintain its distribution system in accordance with the standards established in the Distribution System Code and Market Rules and have regard to any other recognized industry operating or planning standards adopted by the Board."


Is it correct to say that whether you're under cost of service or IRM, it is your intention and your expectation that you will comply with that standard?


[Witness panel confers]


MR. HAINES:  I think it's fair to say that we will do that within the context of the capital we have available.


MR. SHEPHERD:  So you may not comply with the standard?


MR. HAINES:  We will not do it at any cost.


MR. SHEPHERD:  I wasn't asking how much you were going to spend.  I'm asking whether you'll meet the test.


MR. HAINES:  And my answer is within the context of the capital we have available.


MR. SHEPHERD:  Okay.  And, similarly, there are a number of other obligations, for example, the obligation to connect, and things like that in your licence.  You'll meet all those obligations whether you're on IRM or cost of service; right?


MR. McLORG:  To the best degree that we can, given the resources that are available to us.


MR. SHEPHERD:  And am I right in understanding that if you weren't able to meet -- if the financial community perceived that you were not able to meet your licence obligations, they would see that as a risk; right?


MR. HAINES:  That's correct.


MR. SHEPHERD:  Would it be a significant risk?


I mean, is that the sort of thing that could lead to de-rating, for example -- reduced rating?


MR. COUILLARD:  The investment committee has never really brought that as a potential risk, because their view was always that if you look at the OEB Act, that we would be allowed to recover prudently incurred expense, and when you look at those expenses, those will be the expenses that -- or the costs that we would use in order to meet the standards that are set in our distribution licence.


MR. SHEPHERD:  I understand that, but humour me.  The hypothetical is that you are under IRM.  You spend what you are able to spend under IRM.  That's a risk.  Is that something they would be concerned with?


MR. HAINES:  As I said, I think they would be concerned, but you asked sort of degree of concern.


And so Mr. Couillard has already described earlier this morning the process that we go through when we get our bond rating or credit ratings done, et cetera.  And I can tell you, as Mr. Couillard told you this morning, it's often a question asked at the beginning of that due diligence process of:  Exactly how does rate-making work and what certainty do they have?


And we often rely on the objective that comes right out of the Ontario Energy Board Act, which states that in setting rates, that the Ontario Energy Board is ensuring the maintenance of a financially viable electricity industry.


And so that comfort around the "financially viable" is the important words there.  And in other words, there was a balance between the capital spend and the maintenance of the plant with the viability of the company overall.


And it's that obligation that gives the credit rating agencies the comfort necessary to see the risk, but not to put a high cost against that risk.


MR. SHEPHERD:  Well, okay.  But -- and in fact, you see in the ratings reports, all of them say something about the regulatory compact and how strong it is in Ontario.  They place a lot of reliance on that, don't they?


MR. HAINES:  Sorry, what was the last part?  They placed a lot of?


MR. SHEPHERD:  Reliance in that regulatory compact.


MR. HAINES:  Yeah, I would say in my time here in Ontario in the electricity sector, what we've seen is concern around the regulatory compact or construct, and a cost associated with that in our capital, to more comfort around the regulatory structure that exists today.


And so I think it's fair to say that the rating agencies have comfort as to the execution of these obligations that will find the right balance between capital and financial viability.


MR. SHEPHERD:  What I'm trying to distinguish with, and this is -- between, and that is the reason why I raised it, is the rating agencies' comfort that if you need to have to spend money, the regulator will allow you to do so, and the rating agencies' concern that they would have if your spending was limited to the sort of numbers, for example, you would have under IRM.


That's an operational concern, right?


MR. HAINES:  Right.  Right.  I think the path of, you know, underperforming, if you will, and serving the customers is probably a long path, right?  That they would have concern about the long-term trending associated with that.


But I would think that they would have greater concern about the things we've been talking about this morning, when in 24 months, you fall out of a -- you know, a covenant that, you know, has been well known about.


So it's a degree of concern that I'm trying to describe.


MR. SHEPHERD:  Okay.


MR. HAINES:  And that's our feedback that we hear from them.


MR. SHEPHERD:  So on August 30, Standard & Poor's did an outlook for you, calling you "excellent" and "stable" and all good things.  And this is the document that Mr. Brett referred to, which is, I think, actually in your evidence; right?


MR. HAINES:  That's right.


MR. SHEPHERD:  And at the time that this was prepared, Standard & Poor's would have known about this application?  You would have told them that this application was coming, right?


MR. HAINES:  That we made a cost of service filing.  I believe we did.


MR. SHEPHERD:  So they would know the size of your capital plan, et cetera, right?


MR. COUILLARD:  Yes, we did.


MR. SHEPHERD:  Okay.  So I want you to turn to page 3.  And at the bottom paragraph, they talk about -- you'll see -- and I think Mr. Brett may have read this to you:

"However, we believe that if approved by the OEB, the company's strategy to pursue rate base resetting every year will allow it to moderate the negative impact somewhat."


That is the negative cash flow impact, right?


MR. HAINES:  Yes.  The lag.


MR. SHEPHERD:  Okay.  So here's the thing I wanted to ask about.  They also go on to say:

"Should the regulator not allow this strategy, we believe that Toronto Hydro will adjust its capital expenditure downward and only spend pre-approved capital expenditure."


Right?


MR. HAINES:  Right.


MR. SHEPHERD:  And you said that, right?


MR. HAINES:  Yes.


MR. SHEPHERD:  You're going to work to your budget?


MR. HAINES:  Right.


MR. SHEPHERD:  And if the budget is lower, you'll work to the lower budget?


MR. HAINES:  That's right.


MR. SHEPHERD:  Okay.


MR. McLORG:  Mr. Shepherd, for what it's worth, I think the concern on the part of the ratings agencies is Toronto Hydro spending amounts that aren't recoverable in rates.


So it's not that we would live to our budget, but we would go beyond our budget.  That's, I think, the root of their concern.


MR. SHEPHERD:  That's right.  But I guess what I'm looking at is I don't see any risk here.  I don't see them talk about any risk that if you only spend, under IRM, for example, the lower amount, if you only spend under that, that somehow the world will come to an end, that there will be something bad happen.


MR. HAINES:  Mr. Shepherd, these are not people that are regulatory and asset, you know, experts.  They have no profile into our assets and, you know, the challenges around that.


They're looking at a financial model and making comments around a financial model.  They're not -- you should not read into that that Toronto Hydro doesn't need more than $140 million worth of capital.  They don't say that.  And so they have no basis to say whether our spending should be 100, 200, or 600.


And so they're making a comment about:  Should we spend more than is allowed?  The financial consequences are those that we've been talking about today.


MR. SHEPHERD:  Sure.


MR. HAINES:  And it is that comment that they are trying to give the markets a signal on, that we must regulatory right-size, should we be in an IRM model.


MR. SHEPHERD:  And they're not attaching any risk to that.  They're just saying:  Look, we're confident that they'll spend what they're allowed to spend.


MR. HAINES:  That's right.


MR. SHEPHERD:  And they're not saying:  And as a result, their system will fall down?


MR. McLORG:  No, the risk devolves to the customers in the latter case.


MR. SHEPHERD:  Okay.  The third area I wanted to talk about is productivity.


And we heard for the first time today in your oral -- in your responses to Ms. Sebalj some examples of your productivity initiatives.


And so we asked you -- in School Energy No. 21, which is R1, tab 7, schedule 21 -- we asked you to tell us how much have you saved in productivity initiatives from 2008 to, including the planning period, 2014.


And your answer -- well, your first answer was:  We're not going to tell you.  Sorry, it's -- and then you changed your mind and you said:  Okay.  We'll tell you.


But your answer then, when you changed your mind, was:

"THESL is unable to present productivity results in the manner requested."


And you go on, et cetera, et cetera, et cetera:

"It is not possible to identify the specific dollar impacts of these efforts on individual expense categories."


Is that right?


MR. McLORG:  Yes.


MR. SHEPHERD:  So all these things that you were  talking about –-


MR. HAINES:  Right.


MR. SHEPHERD:  -- you don't actually know how much they saved you, do you?


MR. HAINES:  No, it's the way that the question is being asked.  So you take a productivity measure.


Let's say, for example, I was describing the harmonization of job categories into a fewer number, meaning that our employees are doing a broader level of work, you know, at any given point.


We don't account for that as a productivity program and have, you know, a forecast against it, and we don't record the savings into a bucket.  The savings are across all cost centres and all categories.


And so the way the question was asked takes something like the productivity gains that have occurred from that initiative and divide them up across thousands of cost codes.


Well, you can't do it.  We don't keep the records in that format.


And so -- I know this has been the challenge over the years.  Give me the programs and give me the savings by -- you know, by class.


It simply isn't the way that businesses run.  And so that's why we're unable to answer it in that context.


But we are able to -- and you know, if we were in a cost of service hearing, we would go through departments and talk about initiatives and benefits that have derived from those.


And so I was trying to give a macro discussion that we would be happy to have a micro discussion on the cost of service filing.


MR. SHEPHERD:  So I have to tell you in my experience, businesses run on the basis that if somebody comes and proposes a productivity initiative, somebody says:  Let's do this differently, you do a cost-benefit analysis and you make sure that you're going to save more money than it costs you.


You do that, though, right?  That's your practice?


MR. HAINES:  Absolutely.  But you don't then take that cost-benefit analysis and divide it up by cost codes and then report against those cost code savings.  It just isn't the way you account for those activities.


MR. SHEPHERD:  We asked for a category of distribution expenses, of which there's, what, 10, 12?


So you don't know how much you save in operations from these initiatives?


MR. COUILLARD:  Well, Mr. Shepherd, so I think we've established this morning that when -- we clearly established that we have delivered more capital with a very, like, marginal increase in number of people.


We've demonstrated this morning that we've done several different initiatives, but to take -- to come back to Mr. Haines' example -- to take that the harmonization of jobs and then trying to allocate that to every single project and how much we save when we put a, you know, new transformer at the corner of King and Bay versus, like -- we don't go into that level of details.


MR. SHEPHERD:  So you never look at whether your productivity initiatives are actually delivering the results that you hoped for?


MR. HAINES:  Not at all.  We have corporate objectives that our board establishes, our KPIs, our key performance indicators, and we are measured against those.


And so each and every year we have detailed calculations of capital work done and operating costs managed and customer service and health and safety and absenteeism and all sorts of metrics.


But we don't do it in the way that you're asking for it, and so it's not that we're reluctant to talk about the productivity gains.  In fact, we're quite proud of them.  But it's just the way that you're asking us to summarize the benefit.


You know, Mr. Couillard is correct.  You know, when you save $10 on an activity, how you account for that when that activity is performed.  Do you put negative 10 in or do you say this is a productivity piece?


And so we're just not able to do it, but we're able to talk about the initiatives that we've done over the years.  We're proud of all these initiatives.  We're able to talk about the savings that have happened at departmental levels and all these good things.  We're just not able to break it down into all the pieces that you want to break it down into.


MR. McLORG:  Generally, the basis of accounting is to record costs incurred, not costs avoided.


MR. SHEPHERD:  And so in management, you don't look at costs avoided?


MR. HAINES:  We set targets that represent productivity improvements, and we measure, Did we achieve those targets?


MR. SHEPHERD:  But when we asked you for some empirical evidence on productivity, you had nothing to give us?


MR. HAINES:  No.


MR. McLORG:  In the manner requested --


MR. HAINES:  In the manner that you asked us.


MR. SHEPHERD:  A fourth area that I want to deal with -- sorry, a fourth area I want to deal with is we asked you a number of questions comparing various metrics to other LDCs.  And you've indicated, Mr. Haines, in your evidence earlier that you don't believe those comparisons are useful, right, because they're just too general?


MR. HAINES:  That's right.


MR. SHEPHERD:  Okay.  So what we did is -- I mean, we understand that you can look at any given example, so what we did is we took two other macro comparisons.  One is comparing you to every other LDC in the province over 30,000 customers, so that's got to cover everybody that you might be comparable to, and comparing you to every other LDC that has large users.


And I wonder if I can -- we provided these tables yesterday to my friends, and I wonder if I could have these marked as exhibits.


MS. SEBALJ:  Sure.  The first, which is entitled "Annual Distribution Bill Comparison - LDCs With Large Users 2011 Rates" we'll mark as Exhibit K2.6.  And the second, which is entitled "Annual Distribution Bill Comparison - LDCs Over 30,000 Customers 2011 Rates" we'll mark as K2.7.

EXHIBIT NO. K2.7:  TABLE ENTITLED "ANNUAL DISTRIBUTION BILL COMPARISON - LDCS WITH LARGE USERS 2011 RATES"
EXHIBIT NO. K2.8:  TABLE ENTITLED "ANNUAL DISTRIBUTION BILL COMPARISON - LDCS OVER 30,000 CUSTOMERS 2011 RATES"

MR. SHEPHERD:  I am going to just ask -- I am not going to ask a whole lot of questions about this.  I just want to ask two.  The first is, when we did the other comparison, you said you thought that our calculation of Toronto Hydro's bills was incorrect?


MR. McLORG:  That's right.


MR. SHEPHERD:  Could you help us with that?


MR. McLORG:  Toronto Hydro bills its customers with respect to the fixed charges involved on rate design on a 30-day basis, and most other utilities operate or have rates predicated on a monthly basis.  So there has to be an adjustment to recognize the difference between those two bases of rates so as you get a comparable set of figures.


And apparently there was a minor error in the Schools' calculation of the days of service correction factor.  It doesn't make a big difference, but technically we couldn't confirm your number, because it was wrong.


MR. SHEPHERD:  What was the difference?


MR. McLORG:  I could undertake to provide it for you exactly, but it's a minor difference.  It's about $8 on $368.


MR. SHEPHERD:  Eight dollars?


MR. McLORG:  Eight dollars, yeah.  It results from the error in Schools' calculation of the days of service correction factor.


MR. SHEPHERD:  We corrected on the basis of 365-1/4 days over 360.  Was that wrong?


MR. McLORG:  Yeah.  Apparently your division of that was incorrect.


MR. SHEPHERD:  Okay.  You mean Excel's division of that was incorrect?


MR. McLORG:  Well, I can't say how you arrived at the number.


MR. SHEPHERD:  Okay.  So then I want to -- the other question I want to ask about this is:  Am I right in understanding that, on this table, all of the utilities that you would expect to compare yourself to, that would be fair to compare yourself to, will be on these tables somewhere?


MR. HAINES:  No.  I think I said this morning that after an exhaustive amount of work for two years of input, it was determined that Toronto Hydro could not be compared against these other utilities.  And so we're not going to say now that this is the comparator group.


MR. SHEPHERD:  I'm asking whether -- if there is a comparator group, it's got to be on here?


MR. HAINES:  I think it's probably Chicago and LA and others that look similar to what we look like when we think about the design and operation of our distribution plant.


I do not agree, if we look at our table and I look down to the one that would represent sort of the medium point - I think it's Sarnia Hydro or something - that we are comparable to Sarnia Hydro when comparing our costs of organizations against theirs.


MR. SHEPHERD:  Sarnia?


MR. HAINES:  Well, I was looking at PUC -- isn't that -- or is that --


MR. SHEPHERD:  That's Sault.


MR. HAINES:  Pardon me.  But the point remains the same, that the determination has been made that we didn't have a direct comparable here, but that's not to say that we're not interested in looking for direct comparables so that we can really get meaningful comparables to compare ourselves against.


MR. SHEPHERD:  Okay.  So help me out.  The Board does a report every year on the adjustment factors for IRM, and it sets up the various utilities in cohorts; right?


MR. McLORG:  That's my understanding.


MR. HAINES:  In part, yeah.


MR. SHEPHERD:  And you're in a cohort; right?


MR. McLORG:  Yes, we are.  We've been put in a cohort by the Board, a peer group.


MR. SHEPHERD:  So how is it that you can say that you're not comparable to -- that the Board says you're not comparable to anybody?  The Board said, in fact, that you are.  They put you in a cohort, didn't they?


MR. HAINES:  The Board also said that we're not comparable to anybody else.  I'm not suggesting, again, that we're not prepared to look at legitimate comparables, but I'm not sure that this approach is a legitimate comparable.


So let's look at operational differences for a moment.  We've talked about this many times.  We had a policy at Toronto Hydro unique to the province where we removed metering and put bulk meters in.  I think you know about that.  So today we have what is equivalent to 300,000 residences behind bulk meters.


So when you compare us against a customer number as opposed to a volume number, you get a vastly different outcome, you would agree.  You're looking puzzled by that.


MR. SHEPHERD:  Yeah, I don't understand that.


MR. HAINES:  Because they were equivalent to 300,000 homes behind bulk meters - you got that -- that puts Toronto Hydro not at 700,000 customers, but closer to a million customers.


What I mean by that is that if you adjusted -- if you corrected for that anomaly that exists within Toronto Hydro and its practices over time, you would get a completely different comparator to look at.


MR. SHEPHERD:  So do I understand you to be saying that in doing any comparisons, you should be treated as having a million customers instead of 700,000?  Is that what you're saying?


MR. HAINES:  That's right, because that's the unique thing about Toronto Hydro.


MR. SHEPHERD:  Is that in the evidence somewhere?


MR. HAINES:  It's been in our evidence in the past.  I'm not sure how it is in this time.  But if you took the volume approach - just take it by volume - you will get a different answer.  And I know that you want to drive us into this comparator between us and small utilities, but it's not a fair one.


You'll recall back in 2005 when you questioned me on this around salaries, Toronto Hydro versus Hydro Ottawa.  You put something like this together, and you asked me why it was that Toronto Hydro's salaries were so much higher.  In that case, you had added directors into the numbers for Hydro Ottawa.  We don't have directors at Toronto Hydro.


And so it's an example where we have to be very careful about taking bulk data and creating tables from it and assuming that that is a representation of productivity.


It's like I said this morning in my little parable about two people running the marathon.  You would conclude that the person that ran it fastest is the highest performer, but that is not necessarily the case until you understand all of the information.


MR. SHEPHERD:  It's true, isn't it, that a residential customer, a typical residential customer in Toronto, is charged significantly more than any other utility in the province for their service?  Isn't that true?


MR. HAINES:  I think that that is true, and, as I said earlier, if we compared it against Chicago, we would see a completely different result.  And so we have to be careful what we consider to be a comparable.


MR. SHEPHERD:  Okay.  So the fact that it's more expensive to get distribution in Toronto as opposed to Ottawa or Hamilton or London, or any other big city in this province, is not relevant to the Board?  The Board should not consider that?


MR. McLORG:  I think that you're following your pattern of mischaracterizing Toronto's answers, Mr. Shepherd.  I think that Mr. Haines has explained the perils and pitfalls of making bald comparisons between indicator or end use or output type of variables, while neglecting the more rigourous analysis of the underlying cost driver differences that drive those differences in cost.


So, effectively, you're short-circuiting the approach that the Board has taken, in its assignment of stretch factors, for example, of using an econometric modelling approach, which takes things like those that you've compared here -- which I'm going to term "indicator variables" -- and treats them as dependent variables in econometric equations, and then, you know, makes a best attempt to provide an analysis of the explanatory variables that drive those differences.


So what's missing in the analysis that you've put forward here and in your Interrogatories 1 through 5 is the whole analysis of why the costs are different, and, you know, to come to conclusions based on a naive comparison of the indicator variables is about as valid as concluding that, you know, two people that you stop on the street and ask how much money they have in their wallet, well, the person with more money in their wallet has a higher income.  And, you know, you can see that that's not a valid conclusion to come to.


But that's the kind of thing that's going on here.


We've said in writing, in our interrogatory responses, we do not resist a fair comparison to other utilities.  In the Ontario context, I think that that demands that a sophisticated model of econometric cost modelling is the one that could be used to do those comparisons.  And the underlying data used in those models has got to be made comparable, as well.


So we have historically been very forthcoming in our submissions to the Board in various consultations, to advise the Board and all other parties of our reservations and concerns about the comparability of the data and the adequacy of the models.


MR. SHEPHERD:  Well, the Board actually did an econometric analysis, right?


MR. McLORG:  That's right.  And it's being used right now.  And it's not the only econometric model that could be used, but we endorse the direction in which the Board is going, which is to start to make more sophisticated and analytic comparisons between utilities, and not bald comparisons of indicator variables that lack any explanation.


MR. SHEPHERD:  Okay.  So here's the thing I don't understand.  You've told the Board you reject the IRM model, which uses that econometric model, because it doesn't work for you.


And then you tell the Board that even though on every single indicator we can find, you're the worst performer, that somehow those shouldn't count either.


What can the Board look at, then?


MR. McLORG:  First of all, Mr. Shepherd, we don't reject IRM as an appropriate manner of regulation for Toronto Hydro because of the use of the econometric model or otherwise.


Our objection to it lies in the underlying structure of IRM and the assumptions around ratemaking that is embodied in that, and the assumptions around circumstances that don't apply to Toronto Hydro.


Now, as to what approach the Board can use to make informed and reasonably valid comparisons between utilities, we're on record as supporting that effort, and we want to see it done on the basis of econometric cost modelling that would include all the significant cost drivers that underlie the costs actually experienced and recorded by utilities.


MR. SHEPHERD:  Total factor productivity, in other words?


MR. McLORG:  No, I wouldn't call that econometric cost modelling.  No.


MR. SHEPHERD:  Related to this, I wonder if you could turn to our Interrogatory No. 16, R1, tab 7, schedule 16.  We asked you for the shareholder direction.  And you --


MR. McLORG:  We have that.


MR. SHEPHERD:  And you refused to provide that?


MR. McLORG:  We refused to provide the exact document because it's restricted, but we have substantially reproduced the publicly available portion of that.


And it lists objectives, principles concerning operations, and so on.  So substantially, the substance of a shareholder direction is on record.


MR. SHEPHERD:  You haven't actually given us the shareholder direction, right?


MR. McLORG:  That's correct.


MR. SHEPHERD:  Or even quoted from it.  What you've done is you've given us a quote from the annual information form, which gives your summary of how you want to describe it; true?


MR. McLORG:  That's correct.


MR. SHEPHERD:  And so why is it that the shareholder direction can't be provided to this Board?


MR. COUILLARD:  Well, we would need to get approval from our shareholder in order to –- so, you know, the answer would be probably better addressed from our shareholder.


We have never provided those as public documents, where, as everybody knows, we are an OSC registrant.  And we have never had to provide the shareholder direction and it's not required, but we have put in annual information form what we believe is an accurate portrait of what is important for the investor, for the investment community.


And as I said, I think it's a matter that relies more on our shareholder, if we are allowed or not to release the shareholder direction.


MR. SHEPHERD:  Madam Chair, this is a document that instructs Toronto Hydro Corporation and its subsidiaries on how to behave, how to run their businesses.


Every other utility that I know of that's been asked for it has provided it, and the Board has in fact found it very useful in cases like Hydro One and in cases like OPG and others, where the shareholder direction gives specific instructions for how to approach certain aspects of the business.


And we've seen it in every other LDC case that we've asked for it.  This is the first time we've ever had it refused, and I would ask that it be ordered to be produced.


MR. COUILLARD:  Madam Chair, sorry to interrupt.  If it helps, I can quite easily contact our shareholder tomorrow and see if they have any issue in allowing us to release the shareholder direction under confidentiality for this proceeding.


MS. CHAPLIN:  Does that satisfy you for the time being, at least?


MR. SHEPHERD:  Yes, it does.  Thank you.


And then my last question relates to -- should we have an undertaking for that?


MS. CHAPLIN:  Yeah.  Let's give that an undertaking number.


MS. SEBALJ:  It will be J2.5. 

UNDERTAKING NO. J2.5:  TO ASK SHAREHOLDER FOR PERMISSION TO RELEASE SHAREHOLDER DIRECTION UNDER CONFIDENTIALITY.

MR. SHEPHERD:  And then my last question is with respect to School Energy Coalition Interrogatory No. 23, which is R1, tab 7, schedule 23.


And I've asked Mr. Buonaguro to put it up on the screen.  One day I'll learn how to do that, but not today.


And if we could go to page 2, in your last rate case, you were asked to provide a graphical description of your various plans, and we heard you talking earlier with Mr. Brett about the fact that you've had four plans that you have filed over the various few years.  And so last year there were three of them, and we saw the -- actually, on the previous page, we saw the increase from 2007 to the 2010 and '11 plans.


But we also saw this snowplough effect that you were talking about, right?  That's what that peak is?  The snowplough effect, right?


MR. HAINES:  I don't think so.


MR. SHEPHERD:  I think that's actually --


MR. HAINES:  I'm not sure I would describe that as the snowplough effect, because of course that peak happened before we started the ramping up of the capital.


When I think about it, the snowplough has really been going on since '05 with and ask and a settlement or an approved amount lower than the ask.


And so I'm not sure I would agree that the first peaks are the snowplough.


MR. SHEPHERD:  All right.  So these peaks in 2010 and 2011 are not snowplough?


MR. HAINES:  Oh, sorry.  I was looking at the one you've got up on the board here.


Sorry.  Get my glass working -- now that my glasses are working...


[Witness panel confers]


MR. COUILLARD:  Mr. Shepherd, I'm not sure what we're trying to characterize here.


There were significant increases in capital expenditures in relation to those plans, but the increases were lower than what we had requested.


So there are still an amount of capital projects that are -- what do you call it?  In the backlog, that were related, that were identified during those periods, that, you know, are put forward for '12, '13 and '14.


MR. SHEPHERD:  All right.  Well, then, I wonder if you can look at the next page.


And you've now added the most recent plan, and you'll see that, while it starts about the same area in 2012 -- it appears to -- it is much higher throughout.


And so you were asked by BOMA in -- and I just have to find the interrogatory reference -- about this.  And if you turn to -- you can leave that on the screen, if you would like.  I'll be back to it.


If you go to R1, tab 3, schedule 1, which my friend Mr. Brett referred you to, on page 7 you talk about why your plans have higher amounts each year, and you said:

"THESL has been improving the tools it uses to understand the condition and age of its distribution plant since with the development of its first long-term plan with the presentation of more comprehensive plans in successive rate cases."


Then you go on to talk about more inspections and better analysis, et cetera.  And the result is you're finding more things; right?


MR. HAINES:  That's correct.


MR. SHEPHERD:  And there's no reason for the Board to think that you're going to find less when you do next year's, is there?


MR. HAINES:  As I said this morning, I feel like we've got to the 80 percent accurate now.  They are certainly areas where I'd like to have more comfort than I do today.  But some of those things are simply beyond our capacity to know what they'll look like in the future.


So as we peel this onion or flip the stone over, whatever analogy you want to use, we have certainly found that the asset needs more work than we had felt the year before.  But do we feel like we're getting to the end of that picture?  Yes, we do, absolutely, and I know that a lot of analysis, a lot of planning has gone in, but also things like the IFRS work we did last year where we deconstructed the plant and were able to then have a better picture of it overall.


All of those things contributed to a much higher level of confidence than we've had in the past.


MR. SHEPHERD:  You actually had a decrease in your depreciation last year of, what, about 20 million, something like that?


MR. HAINES:  IFRS resulted in a change; that's right.


MR. COUILLARD:  About 30 million.


MR. SHEPHERD:  Thirty million?  And you're going to have an increase this year of about 20 million for capitalization; right?


MR. COUILLARD:  In operating expense, there is increase in operating expense, so there's a decrease in capitalization of about $20 million.


MR. SHEPHERD:  Which means it's going to be an increase in operating expense?


MR. HAINES:  That's right.


MR. McLORG:  Yes.


MR. COUILLARD:  It's factored into 2011 rates.


MR. HAINES:  They're offsetting factors.


MR. SHEPHERD:  So in fact when you're talking about 140 million in depreciation, it was actually on the old rules.


MR. COUILLARD:  I can take it.  So we spent 300 -- sorry, our depreciation increased by -- decreased by $30 million.  Our operating expense increased by $20 million, and our capital expenditures obviously increased by $20 million.


MR. SHEPHERD:  So your 2011 results and your rates, for that matter, are 30 million less than they would have been under CGAAP; right?


MR. COUILLARD:  For what year, sorry?


MR. SHEPHERD:  2011.


MR. COUILLARD:  Sorry, can you repeat?  I just want to make sure I...


MR. SHEPHERD:  Your 2011 rates, revenue requirement, let's say, or rates, are 30 million less than they would be under CGAAP, because you implemented the depreciation change; right?


MR. COUILLARD:  No, that's not correct, because there was that implementation, which, you're correct, that reduced revenue requirement by about $30 million.  However, the lower capitalization increased operating expense by $20 million.  So the net effect is approximately $10 million lower revenue requirement.


MR. SHEPHERD:  Okay, good.  And am I right and should the Board take from your 80 percent comment -- because I don't want to read into it what you don't intend.  Should the Board take that the -- you want to spend in the next three years $1.845 billion, right, on --


MR. HAINES:  That's correct.


MR. SHEPHERD:  Should the Board take that that number could go up by 25 percent from 80 to 100 once you do a further review?


MR. HAINES:  No.  As I think we've been saying, we will work to what is allowed, and so if there are new -- new evidence comes forward that isn't, you know, an obligation-type evidence, we will deal with that, you know, in future periods.


But we're not -- we won't be back to talk about a new discovery through the process.


Having said that, if something changed about an obligation to serve or an obligation to connect or something that was policy or regulated in nature, then there might be changes.  But we would expect to live within the allowed amount.


MR. COUILLARD:  And if I might add, I think if you look at the construct of what we put forward for our cost of service application, we have built some safeguards in there that would bring us back if we were off by a certain percentage from an expense -- that we would be back in front of the Board to discuss any potential change that would be in excess of what we had.


And we would also ask that if we were not spending the required amount, that the reset in any given year would be set at the actual rate base amount, not the rate base amount that we are putting forward in the application.


MR. SHEPHERD:  And am I right in understanding, though, that your ten-year number of $5.5 billion -- right, it's 5.5?


MR. HAINES:  5.7, I believe.


MR. SHEPHERD:  Could actually be over 7 billion by the time you finish -- get to 100 percent review?


MR. HAINES:  No, I don't think you can say that we've got 80 percent of the capital that we're going to need figured out.  What I said was we have 80 percent confidence.  And so there are still areas where there's uncertainty about what policy will be.


And so, you know, it may be in there; it may not.  What's going to happen with third line into Toronto during the period and those sorts of things?  We don't simply have visibility into that yet.


And so, you know, we'll know when we know, I guess.  But I don't think you can conclude that you take our capital and gross it up by 20 percent and that's what it's going to be.


MR. SHEPHERD:  Okay, thank you.  Those are all our questions.


MS. CHAPLIN:  Thank you.

Questions by the Board


MS. HARE:  Mr. Haines, you stated rather emphatically that a rebasing year is not a cost of service year.


MR. HAINES:  Yes.


MS. HARE:  Could you explain the differences, please?


MR. HAINES:  Yes, thank you very much.  I'm happy to.  If we think about a cost of service year and the circumstances that you file for that mechanism, you know, let's just for simplicity say it's a one-year process.  And so you're figuring out your costs for the next year.  You're looking at your priorities of capital and expenses and other matters, and staffing changes and all of that good stuff, and you're putting forward your best estimate as to what a spend will look like.


And you know implicitly within that there's a regulatory lag of six months and that, you know, there will be certain costs that you'll incur, but you'll have another opportunity to deal with those 12 months later.  I'm describing a case of a one-year application.


And so there's an ongoing routine, a cycle to it.  And so you plan your costs on a smoothing base, and so you might do projects for multiple years and you may have initiatives that cross over between year to year, and so on so forth.


One of the issues that we have around the IRM model, though, it's different than that.  The capital spend has to follow a different pattern.


And so the simplest way I could put it is by way of a small example.  So let's assume that Toronto Hydro needs $600 million, is what our evidence shows, for capital renewal, and we get 140 the first year.  So we spend the 140 in the best way we know how.  And for $450 million worth of capital projects with customers' lights going out, we say to them, Look, we're simply unable to get to this now.  We will put this in the pile for next file.


And the next year comes by and the same story happens, and the next year comes by and the same story happens.


So you get to this rebasing year.  So how do you plan your company's expenditures during that rebasing year?  Well, now you have to catch up that deficiency in capital that was not able to be done during that cycle.


And so in our case, the combination of the lag from last year, the '11, the shortfall from '12, '13 and '14, and what should be spent in '15, all piles up and it becomes 2.2 billion.


That has to be spent that year, because there's no other time that that would be -- there's no other catch-up moment, and so you deliver a $2.2 billion plan, of which half of it has cost recovery; right?


And so the regulatory lag extends out, as we've talked about, to 2019 before that opportunity comes about again.


So that's different than a cost of service filing that you say, Okay, we are not going to have this huge bubble event.  We're not going to downsize the company for three years, and then try to ramp up for a year, and then downsize it again.


And so it's what's vastly different.


I'd like to just turn our attention to how do you -- I will call it regulatory right-sizing, and I don't mean that flippantly.  It's just, how do you modify -- how do you go between these mechanisms?


We're trying to run a long-term business.  We plan resources and capital, you know, access to capital and other things to achieve that.


So what would we do in an IRM model if we had to live with $140 million?  Well, we would have to look at our capital resources and say, Okay, we've got too many people.  We've got too many resources.  You know, we've got resources to do $400 million and building resources to do 600 million.  So we don't need all these resources.


So the easy one is to say, Okay, we have a contractor community.  We will terminate those contracts.  Five hundred or so people become unemployed.  Companies who have invested, you know, 350,000 for a truck become idle, and they take their work elsewhere.  Without doubt, this is the -- the phenomenon of capital requirements is well known.  And they will move their resources elsewhere.

     Then we look at our own embedded resources, and we say:  Okay.  Hang on a minute.

As I described this morning, we have enough resources to do $260 million of capital.  We only have 140 million.  In fact, when we look at that 140, we probably will only have about 50 to 80 million for the kind of plant that we're talking about.

     So we need to now do a downsizing of Toronto Hydro's permanent employees.

     So our best estimates are that we will have about 300 terminations from our trades group.  Well, our collective agreement is like everybody else's in the world; it's a seniority-based collective agreement.  So what does that mean?  That means, you know, the oldest stay and the youngest go.

So for the last five years, we've been agreeing to invest in the renewal of our employees and training new, young workers to be the workers of the future.

So they're all gone, and somebody else gets the benefit of everything the Toronto Hydro customers have been paying for.

     But it goes much deeper than that.  You know, our expectation is probably up to about 20 years of service would be let go in this model.  And so what you end up with is a workforce of about 450 tradespeople, all of which have less than five years of remaining service.  In fact, our numbers show that we'll have 166 left of them by the time we get to rebasing.

     So now you've got a model that -- you've got no workforce left.  You've got no contractor community left.  You've incurred something between 50 and $60 million to regulatory right-size, which we haven't talked about where that's coming from yet.  All for the purpose of being put into this model, right?

     And so how does that get recovered?  So if it's $60 million, it too has to go into that rebasing year.  Our numbers show something like a 40 percent rate increase on the rebasing year, right?  To account for all of these mechanical things that happen in the IRM model.

So instead of taking a cost of service -- which is a, you know, long-term, systematic, structural approach to a long-term problem -- it is a start/stop, start/stop.  You know, I don't want to get too cute, but it's equivalent to having your birthday on February 29th.  Once every four years, you have a great time, but between, you have no birthday.  You know, there will be this start/stop every cycle.

You can't run the company this way.

     And so that's why I see the rebasing being so vastly different than a cost of service, because it starts from a completely different place.

     MS. CHAPLIN:  Thank you.  I have two -- a few questions to the panel.

     You've explained that one of the key drivers is the magnitude of the spending that is, in your view, now required, and that you have considered the pacing of that spending and that's part of what led to the settlement agreements that you reached in prior proceedings.

And you've made a particular point of saying that the implications of reduced spending are adverse consequences on your customers.

     What analysis or have you done some analysis looking at the customers' willingness to -- I mean, there's clearly a trade-off between reliability and cost.  You explained how you have a body of customers who are subject to outages every six weeks, and you've explained that.

     What sort of analysis have you done to understand and therefore to assist you in your pacing of these expenditures, of customers' sort of tolerance for outages, balanced against the financial repercussions of significantly increased spending and therefore significant rate increases, which is what you are proposing?

     MR. HAINES:  Right.  So some of this will be anecdotal and some of it will be some fact-based conversation.

To start with the rate impacts associated with this, we're talking about, on average, $5 a month to support this plan in year 1.

The anecdotal piece is the one about how do the customers feel about that.  And depending on which customer you ask, you will get a different response.  I think we can look at our customers in sort of three ways, if I could.

     The commercial/industrial customers, if you asked them their priority, it would be reliability and quality would be number one, and price would be second.  And if you asked them about price, what we here hear is that the predictability of price, the pace of change, is the most important thing to them.  Most of which, they agree wholeheartedly on the need to have a responsible long-term capital plan; I think there's any pushback on that.  And we hear from places like Board of Trade and others, you know, that sort of message.

     And so we listen to that group and say there is a capacity to have predictable rate increases over -- as we re-right-size the corporation's capital plans.

     When we look at smaller groups of customers, particularly the residential customers, again, I think we have to do that looking at two groups within that.

There are those that struggle to pay their bill, and we understand that, and we see things, you know, bad debts growing and those sorts of things.  A bill, an average bill, would be about $120 a month.

     You know, the reality is, when we look at the impact of that over in household spend, in '02, Toronto Hydro's bill represented 1.5 percent of household spends in Toronto.  Today, almost 10 years later, it's 1.3 percent.

     So to give a context to it, the $5 is -- we shouldn't -- you know, we shouldn't roll over the fact that many people struggle to pay their bill, but we have to do it in the context of 1.3 percent of household spend.

     If you ask the customer who's experiencing the outages, they're prepared to pay that, obviously, because they have direct cost and benefit consequences.

     If you asked the customer that doesn't experience it, maybe somebody who's living downtown in a condo who's living in an area that has high reliability, they would say, of course:  I don't feel it, so, you know, I'd just as soon not incur it.

     We have done very, very sort of superficial preliminary assessments of this when we asked those customers that are on those feeders that are most out.  And we end up sort of 50 percent say, you know:  Of course we would need to spend more money, and of course I'm prepared to pay the consequences of that.

     So you know, that's what I can add to the conversation about, you know, the rate impacts and the consequences associated with this.  But it's, you know -- when you look at these studies across Canada -- how much are you prepared for this or that -- you'll often get a different –- you know, you get a different result than what people really feel about the quality of service and what they're getting for it.

     MS. CHAPLIN:  Thank you for that.

     And then finally, you have explained, and the panel indeed has explained why you're of the view that the IRM framework doesn't meet the requirements of Toronto Hydro at this time.  Not that you're completely opposed to that, to some sort of incentive framework, but that as it's currently constructed, it doesn't meet your requirements.

     And what I'm interested in understanding is what assessment you've done -- I guess I sort of see it as the flip side.  What about -- have you considered how your cost of service or serial cost of service applications, how is that not achieving the Board's objectives, in the sense of -- I guess on the one hand we have issues around regulatory process efficiency.

     MR. HAINES:  Mm-hmm.

     MS. CHAPLIN:  And I take it your response to that would be:  Well, we're proposing a three-year cost of service, and that's how we would seek to achieve that.

     What about the Board's desire to ensure that shareholders and companies have incentives to increase their productivity and efficiency?

     MR. HAINES:  Right.  You know, you heard me speak, you know, at a high level about productivity programs that we've had in the company, all of which have been performed under a cost of service model, in all of which, 100 per cent of the savings have gone to the customer.  The company has never over-earned.

And so we're not performing these processes to the benefit of the --

     MS. CHAPLIN:  Well, that's actually my point.  My point is:  What is your view of the perspective that, if the shareholder does have an opportunity to retain some of the benefits of productivity improvements, that that indeed provides an appropriate incentive, actually spurs greater productivity improvements?

     MR. HAINES:  Right.  And so the way we look at it right now, anyway, is if what we're gaining out of IRM is regulatory efficiency, so let's put a price tag against that.  It costs, what, one to two million dollars to run a hearing.  And so that's the saving, if you will, about that efficiency.  And it drives productivity improvement, if that's, in fact, correct.


And, of course, as I've described earlier, that productivity improvement assumption is just doing less.  It's not actually doing more with less or proportionately less.  It really just is a construct of saying, Just spend less.


So we don't think that that's the best way to achieve those objectives.  We think that the record shows, and will show in a cost of service proceeding, that there have been significant cost efficiencies and that, you know, just rough math, if it takes $50 million worth of costs to right-size the organization, it's a 30-year payback for the regulatory savings that came from that.


And so I don't see the cost benefit associated with that approach, not to say that there isn't a model out there that can achieve the goals that we've -- you know, that we would all like to achieve together.  I think about other places in Europe and other places where, you know, the model tends to be more of a -- I'll call it a cost of service, and then a movement from that cost of service, as opposed to, you know, rebasing, and then backwards; right?


And so there are models I can imagine could be quite effective.  But the model we have available to us today is the model, and it results in no cost benefit to the customers.  And so -- you know, so all we're left with is cost of service at this point.


MR. McLORG:  Could I add just two quick items to that, Ms. Chaplin?  One is just to remind that Board that we filed last year a filing intentions letter with the Board, I think it was in about May.  And part of the information that was contained in that was a comparison of the cost of cost of service regulation for Toronto Hydro on a per-customer basis versus what it could be for other utilities.


And because Toronto Hydro is so large and covers so many customers, especially relative to some of the other utilities in Toronto, you really do get terrific scale economies from having one cost of service case on a multi-year test year basis for Toronto compared to, you know, the costs that are undertaken in time and resources to regulate many other utilities in Ontario.


The other thing I'm just going to quickly mention is that I only have superficial knowledge of this, but I did review briefly a report that was recently produced for the Board by, I believe, Pacific Economics Group, that was an assessment of IRM as it has been applied and experienced by the gas utilities in Ontario.


And I think that one of the things that came out of that report was an expressed uncertainty about the effect of IRM in the context of capital spending.  And the conclusion was that it's very difficult to disentangle reduced capital expenditures as a result of efficiency from reduced capital expenditures that are simply deferred.


And I think that a good part of our evidence goes to demonstrate that in any regulatory context, certain costs are subject to productivity improvements.  That goes to things like how efficiently we do put up a pole line, and so on.  And other segments of our costs really are given by the accounting and the regulatory treatment.


So it's certainly the case that for Toronto Hydro we were taking a much more efficient approach to doing the actual physical work.  And so we've made big productivity improvements there.


That doesn't eliminate the fact that the infrastructure that's being replaced is in revenue requirement right now, basically at zero cost, and the replacement equipment comes in at the full current cost.


So those kinds of cost increases really can't be avoided by any humanly achievable productivity program.  The actual level of the cost increases is certainly subject to mitigation by the kind of productivity improvements that Mr. Haines has described, but the basic underlying costs, the difference in costs between a plant that's fully depreciated and a plant that comes into service at current costs, really can't be avoided.


MS. CHAPLIN:  Okay.  And, Mr. Rodger, do you have any questions?


MR. RODGER:  Just one, Madam Chair.


MS. CHAPLIN:  Okay, go ahead.

Re-Examination by Mr. Rodger


MR. RODGER:  And it's for you, Mr. Haines.  It's just a follow-up on a response that you gave to my friend, Mr. Crocker.  And he had put to you the proposition, in essence, that:  Hadn't you realized for some time now that Toronto Hydro would be subject to IRM?


And in response, you talked about an Ottawa decision, and I want to make sure if I've got it right.  Could you please turn up -- it's our Exhibit A1, tab 1, schedule 2.  This is the chapter -- the "manner of regulation" chapter.  And if you can go to page 8, here you reference a decision involving Ottawa Hydro.  And I'm just wondering if you could read lines 12 to 15, please?


MR. HAINES:  I guess the pertinent piece is:

"The Board finds that the comparable to Toronto Hydro is not pertinent given that Toronto Hydro has never been on incentive regulation."


So that is what I was describing earlier, is our understanding that we were not in an IRM regime.


MR. RODGER:  And what was the date of this decision of the Board?


MR. HAINES:  October '10.


MR. RODGER:  Just over a year ago.


MR. HAINES:  Yes.


MR. RODGER:  Those are my questions.  Thank you.


MS. CHAPLIN:  Thank you.  And just before we rise for the day, I just want to verify.  The two exhibits that were put into evidence by Schools today, the annual bill -- annual distribution bill comparison, Ms. Sebalj, I think you gave them K2.6 and K2.7, but I think we already had a K2.6.  So I think they should be K2.7 and K2.8.


MS. SEBALJ:  That's entirely possible, but I don't have a note for K2.6, so I'll have to --


MS. CHAPLIN:  I have K2.6 as being the -- yes, the street lighting rates chart that was put in by the City of Toronto.


MS. SEBALJ:  Sorry, I just want to make sure I have this right.  You're right, because I marked separately, didn't I?  2.5 -- my apologies.


MS. CHAPLIN:  So we'll give -- the comparison with large users, we'll give that K2.7, and the bill comparison for LDC over 30,000 customers K2.8?


MS. SEBALJ:  Yes.  My apologies.


MS. CHAPLIN:  Okay.  And so we will be resuming on Monday morning at --


MR. BLUE:  Madam Chair, sorry, I had one matter before we adjourn, if I may.


MS. CHAPLIN:  Okay.


MR. BLUE:  This gets back to Mr. Shepherd's request for the shareholder direction.


MS. CHAPLIN:  Certainly.


MR. BLUE:  He told a witness that many LDCs have filed their full shareholder direction.  And I wonder if he could just file a list of those utilities that have done so, and, if possible, copies of the shareholders' direction.  I would require that in order to get instructions from my client, which I would insist on before Mr. McLorg speaks to it.


MR. SHEPHERD:  It seems strange to ask for an undertaking from counsel for an intervenor.


MS. CHAPLIN:  I would perhaps encourage Mr. Shepherd to speak with Mr. Blue to perhaps -- if we can expedite the request by providing the information he's requested?


MR. BLUE:  I would like the request as an undertaking on the record.  He's raised it.  He's put a proposition to the witnesses.  We don't know whether that's true.  We have -- no one stipulated, and I would like that as an undertaking on the record.  If he doesn't have them, he can say so now.  If he does, he can give us the undertaking.


MR. SHEPHERD:  I could find them, and I'm not willing to give the undertaking.  I am not an applicant in this proceeding and it's not proper to ask me for an undertaking.  I will be happy to talk with him offline.


MS. CHAPLIN:  Let's start with that.  I think that will be sufficient for the present purposes.


MR. BLUE:  Thank you.


MS. CHAPLIN:  Thank you, Mr. Blue.  The panel is excused with the Board's thanks.


Mr. Rodger, do you have a date by which you expect to be able to submit the undertaking answers that have been given, the undertakings that have been given today?


MR. RODGER:  We should be able to produce these by Tuesday.


MS. CHAPLIN:  By Tuesday.  Thank you.


MR. RODGER:  Thank you.


MS. CHAPLIN:  So we will see you on Monday morning at 9:30.  Thank you very much.

--- Whereupon the hearing adjourned at 3:08 p.m.
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